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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 600964151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Unit for the solid angle is

1. Degree
2. Radian
3, meter’
4, Steradian

Options :

600964601. 1
600964602. 2
600964603. 3
600964604. 4

Question Number : 1 Question Id : 600964151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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¥ 10 (solid angle) F1 TS &

1. 39 (&)
2 18T

3, Hiey?

4, ST

Options :

600964601. 1
600964602. 2
600964603. 3
600964604. 4

Question Number : 2 Question Id : 600964152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Dimension of strain is

1. [mMor279)
2. [M°L°T9]
3. [ML'TY)
4. :MGL-IT{}]
Options :
600964605. 1
600964606. 2

600964607. 3
600964608. 4

Question Number : 2 Question Id : 600964152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

RENEALIES

1. [Mer2r9)
2. [M°LoT°]
3. [MOL'T)
d. :MGL*ITQ]
Options :
600964605. 1
600964606. 2

600964607. 3
600964608. 4

Question Number : 3 Question Id : 600964153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The position of an object moving along x axis is given by y=q +bt> Where g =10m ., b=2m s>
and t is in second. The velocity at ¢ = 3,0 s IS

.12ms”
2.20ms™
3.36ms™

4.46ms

Options :
600964609. 1
600964610. 2
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600964611. 3
600964612. 4

Question Number : 3 Question Id : 600964153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

X348 & i i fobelt g o Ryl 39 v g i 6

X =a+bt’

Ll ]

Yela=10m b=2m s':ﬁ?ﬂtmﬁﬁlu 3,0511?3”%

1.12ms”
2.20ms”
3.36ms”
4.46ms™

Options :

600964609. 1
600964610. 2
600964611. 3
600964612. 4

Question Number : 4 Question Id : 600964154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An insect trapped in a circular groove of radius 10 cm moves along the groove steadily and

completes 14 revolutions in 100 s. The angular speed of the insect is (take x = 2_: )

1.022rads™
2.044rads™
3.088rads™

4.176rads™

Options :

600964613. 1
600964614. 2
600964615. 3
600964616. 4

Question Number : 4 Question Id : 600964154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

10 cm 501 & GAHR Gid § 1 Bl DIg] Wid o G R 3 T I BT 100 IHU8 H 14
W@m%mﬂaﬂ%aﬂmm%(n:%

1.022rads™
2.044rad s

3.088rads™

4,176rads™

Options :

600964613. 1
600964614. 2
600964615. 3
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600964616. 4

Question Number : 5 Question Id : 600964155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A batsman takes first run by moving from A to B and then goes for second run. When he reaches 20
m from B to D (see figure), he was run out. The net displacement of the batsman is

.2m

2.20m
3.22m
4.42m

Options :

600964617. 1
600964618. 2
600964619. 3
600964620. 4

Question Number : 5 Question Id : 600964155 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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I A A T B T QISR Tl il ¢ R OB G 1 & foiu e 81 S ag BR D@ 20 m
8 R T 2, 1 a9 6 o (O 3R 59 A 1 e R 2

.2m
2.20m
3.22'm

4.42m
Options :
600964617. 1
600964618. 2
600964619. 3
600964620. 4

-

—2m—
>

[ «

«—20m—

B

Question Number : 6 Question Id : 600964156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A mass of 6 kg is suspended by a rope of negligible mass, and length 2 m from the ceiling. A force
of 60 N in the horizontal direction is applied at the mid-point P of the rope (see figure). The angle
the rope makes with the vertical in equilibrium is (take g = 10 m s79)

=
Y 6 Kg
1.15°
2.30°
3.45°
4.60°
Options :

600964621. 1
600964622. 2
600964623. 3
600964624. 4

Question Number : 6 Question Id : 600964156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.15°
2.30°
3.45°

4.60°

Options :

600964621. 1
600964622. 2
600964623. 3
600964624. 4

Question Number : 7 Question Id : 600964157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A bullet of mass 10 g is fired with a speed of 400 m s~ on a soft plywood of thickness 4 cm. The
bullet emerges with 25% of its initial kinetic energy. The emergent speed of the bullet is

1.300ms™
2.200ms™
3.100ms™

4.50ms’

Options :

600964625. 1
600964626. 2
600964627. 3
600964628. 4

Question Number : 7 Question Id : 600964157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

10 g %W @I foedl el B1 400 m s~ @ 211 4 em HieTs B! el PIva @GS W & 41 &
g Tl 310! URFRT 7wl Sl & 25% Y 38 Wigds 3§ dlgR FHdbad! g1 el & q1eR e 3l a1
\

1.300ms™
2.200ms™
3.100ms™
4.50ms™

Options :
600964625. 1
600964626. 2
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600964627. 3
600964628. 4

Question Number : 8 Question Id : 600964158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The torque about the origin due to a force F = 7i N acting on a particle whose position vector is r =
51 m will be

1.35Nm
2.35kN m

3. (355 - 35k) N m
4. Zero

Options :

600964629. 1
600964630. 2
600964631. 3
600964632. 4

Question Number : 8 Question Id : 600964158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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fobalt v forerap R e r = 5im @ W 1R {9 F = 70 N &1 9 o o UG 9@ e
g

135N m
2.35kNm
3,(35) - 35k) N m

AT

Options :

600964629. 1
600964630. 2
600964631. 3
600964632. 4

Question Number : 9 Question Id : 600964159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The anqular speed of a wheel is increased from 1200 rpm to 2400 rpm in 10 s. Assuming
acceleration to be uniform, the anqular acceleration is

1. 4mrad s
2. 2mrads™
3. 4rads™
4,2rad s
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Options :
600964633. 1
600964634. 2
600964635. 3
600964636. 4

Question Number : 9 Question Id : 600964159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[l UfeU PI I 1 10 s H 1200 rpm B FGHR 2400 rpm Bl Wl ¢ 1 RV Pl THHHM HHd U
PIvIY @R

1.4mrad s
2.2mrad s
3.4rad s

4.2 rad s
Options :
600964633. 1
600964634. 2
600964635. 3
600964636. 4

Question Number : 10 Question Id : 600964160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For a planet revolving around the sun in a stable orbit, the relation between kinetic energy K and
potential energy U is

.K=U
LK=U/
3K=-U
4K=-Up

Options :

600964637. 1
600964638. 2
600964639. 3
600964640. 4

Question Number : 10 Question Id : 600964160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

2yt et H g ot uepHT el el 7 3 forg feret e, k¢ iR FRufoet 3o, U & i i

LK=U
LK=U/2
3K=-1U
4.H’=-—U/2
Options :
600964637. 1
600964638. 2

600964639. 3
600964640. 4
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Question Number : 11 Question Id : 600964161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A material like rubber which can be stretched to cause large strain is called,

1. Highly elastic
2. Ductile
3. Plastic

4, Elastomers
Options :
600964641. 1
600964642. 2
600964643. 3
600964644. 4

Question Number : 11 Question Id : 600964161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

39S oY e forg 95 fdopfd Iad & & fore W1 o Webel 6, Pgaild &

1. 3fd Ty

2. d4
3, IR

4, TARYAd ZARCI)

Options :

600964641. 1
600964642. 2
600964643. 3
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600964644. 4

Question Number : 12 Question Id : 600964162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a soap bubble, the difference between the inside pressure of the bubble and the outside
pressure of the bubble is given by (r is the radius of the bubble and § is the surface tension of the
soap solution)

1.25/r
2. 45/r
3.5/r

4.5/2r

Options :

600964645. 1
600964646. 2
600964647. 3
600964648. 4

Question Number : 12 Question Id : 600964162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foreft e & qeigel o folt Jerqel & HieR 2@ 7U1 gaiged & SIeR a1 b did BT AR il ¢ (Gagel bl
IS, r 41 91§ & fdeiel &1 9§ d1d, $ 8)

1.25/r
2. 4S/r
3.5/r

4.5/2r

Options :

600964645. 1
600964646. 2
600964647. 3
600964648. 4

Question Number : 13 Question Id : 600964163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The shapes of the black body radiation curves depend on its

1. Mass

2. Surface area
3. Material
4. Temperature

Options :

600964649. 1
600964650. 2
600964651. 3
600964652. 4
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Question Number : 13 Question Id : 600964163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

BV a0 ah DI 3l (1R Xl § 39

1, GO R
2. BT &T%d R
305 )

4, AU IR
Options :
600964649. 1
600964650. 2
600964651. 3
600964652. 4

Question Number : 14 Question Id : 600964164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The molar specific heat capacity at constant volume for a rigid diatomic molecule is (R is the
universal gas constant)

1.2,9

7
:
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Options :
600964653. 1
600964654. 2
600964655. 3
600964656. 4

Question Number : 14 Question Id : 600964164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

et ST R el 2 FouRmmoras ooy bt o fafRmw v e g1l € (R Wdbe 7 i )

]

™D
=~

)
=

:lb..
W Wk | LNba | SN | O

=

Options :

600964653. 1
600964654. 2
600964655. 3
600964656. 4

Question Number : 15 Question Id : 600964165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

20/223
gcollegedunlaa
India’s largest Student Review Platform

T



9/18/2020

A Carnot engine works between temperatures Ty and T, (T; > T;). The efficiency of the engine is

l1-Tm,
21-T/T;
3.1 ._ZL__

I+ T,
T

4 | = e

I+ T,
Options :

600964657. 1

600964658. 2

600964659. 3

600964660. 4

Question Number : 15 Question Id : 600964165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Iy S| 5o T, AR T, (T, > T,) 14l & 9 1 el ¢ | 39 501 Bl a&fell

L1-TyT,

Tl

) —

I, +T,
T,

L -

T, +7T,

Options :
600964657. 1
600964658. 2

600964659. 3
21/223
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600964660. 4

Question Number : 16 Question Id : 600964166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following expression does not represent simple harmonic motion?

I. 4 sin (wt)

2. B cos (wt)

3.4 sin (wt)+B cos (wt)
4 Ae“ +B e

Options :

600964661. 1
600964662. 2
600964663. 3
600964664. 4

Question Number : 16 Question Id : 600964166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ool 1§ Q HH-91 divd TR Hadl 11l 31 Frefld T dea e?

1. Asin (wt)
2. B cos (wt)
3.4 sin (wt)+B cos (wt)

4 Ae 4+Be™
Options :
600964661. 1
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600964662. 2
600964663. 3
600964664. 4

Question Number : 17 Question Id : 600964167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When a source of sound move towards the stationary observer with a velocity y and emitting sound

of frequency v,, the apparent frequency v measured by the observer will be (p is the velocity of
sound measured by observer)

Ly =vy(14 v,/v)
2. v =vy(1- v, /v)
3.y= vo(l+ v/v,)
4.y = vy(1-v/v,)

Options :

600964665. 1
600964666. 2
600964667. 3
600964668. 4

Question Number : 17 Question Id : 600964167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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o IS 1 1 i foal T, 9 bl R e it SR T vl T Sl a3 bl o
, e g1 A o ot G (e R 1 3, A )

Lv=vy(14 v,/v)
2.v=vy(1-v,/v)
3v=v(1+v/v,)
dy=vy(1-v/n)
Options :
600964665. 1
600964666. 2

600964667. 3
600964668. 4

Question Number : 18 Question Id : 600964168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
On an average, a human heart is found to beat 72 times per minute. The frequency of heart beat will
be

1.08335”
2125
31257
4725

Options :

600964669. 1
600964670. 2
600964671. 3
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600964672. 4

Question Number : 18 Question Id : 600964168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3R HId g5 @1 Y5 U e A 72 TR UM S 61 860 @1 Y5 @1 3ghd gt

1.08335”

2125
3125
47257

Options :

600964669. 1
600964670. 2
600964671. 3
600964672. 4

Question Number : 19 Question Id : 600964169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The speed-time graph of a particle moving along a fixed direction is shown in the figure. The
distance traversed by the particle betweent=0stot=8sis

-Iu'.* 10 ,IT”\
£ N
~ Fix
'§ 5r /.f : \x
o | ;
0 / _l \\.'1..__)
0 4 8
t(s)
1. Zero
2.20m
3.40m
4.80m
Options :

600964673. 1
600964674. 2
600964675. 3
600964676. 4

Question Number : 19 Question Id : 600964169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g ¥ ffda o & s wianr fadt o1 1 arer- w1 G TR t= 05t =8 s F
U GR1 9ol 7 Xl @

_
11-] J"‘
o i\
E g 3
E 1/ : \
/ i
0 4 8

R
2.20m

3.40m

4.80m

Options :

600964673. 1
600964674. 2
600964675. 3
600964676. 4

Question Number : 20 Question Id : 600964170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The angle between the force F = 6i +2j and the displacement D = 2i +6j is

1.sin”"(0.3)
2.5in”'(0.6)
3,¢os'(0.3)

4. cos™'(0.6)

Options :

600964677. 1
600964678. 2
600964679. 3
600964680. 4

Question Number : 20 Question Id : 600964170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

q9, F = 61 +2) IR f0RIT, D = 21 +6) F S B0

1.sin” (0.3)
2.5in”'(0.6)
3.¢0s7'(0.3)

4. cos™'(0.6)

Options :

600964677. 1
600964678. 2
600964679. 3
600964680. 4

Question Number : 21 Question Id : 600964171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Three masses 4 kg, 2 kg and 4 kg are placed along X-axis as shown in the figure. The coordinate of
the centre of mass will be

Options :

600964681. 1
600964682. 2
600964683. 3
600964684. 4

Question Number : 21 Question Id : 600964171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4kg, 2 kg 3R 4 kg ZOTHI & i 408 X-Fexm & Srfem 3 H 2T 3R T 0 § | 37 Yol

g & (i g
Y
£
[4kg  Zkg 4fg i
0 1 2
1.(1,0)
2.(1,1)
3.(3,0)
4.(3,1)
Options :

600964681. 1
600964682. 2
600964683. 3
600964684. 4

Question Number : 22 Question Id : 600964172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The total enerqgy of a satellite of mass m orbiting at a height h above the surface of the earth is given
by (M is the mass of earth, R is the radius of earth)

GmM

2R +h)
emM

2(R+h)
e(mM

(R +h)
GmM
(R+h)
Options :
600964685. 1
600964686. 2

600964687. 3
600964688. 4

Question Number : 22 Question Id : 600964172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

31/223

collegedunia:s

India’s largest Student Review Platform

~

T




9/18/2020

U} & U ¥ dls h T URHH B 5000H m & (ol SUG 1 Fd ol il ¢ (9l 1 5o0dH M
a1 gt ol TR @)

GmM

T2R+N)
GmM

2R4+H)
GmM

il

(R+h)

g N

(R+h)

Options :

600964685. 1
600964686. 2
600964687. 3
600964688. 4

1.

2

Question Number : 23 Question Id : 600964173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The average depth of Indian Ocean is 3000 m. The pressure at the bottom of the ocean is (g = 10 m
52, density of water = 1000 kg m™)

1.3x10%kg m™'s™
2.3x10"kgm™s™
3,3x108kg ms?
4.3x107kg m's™
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Options :
600964689. 1
600964690. 2
600964691. 3
600964692. 4

Question Number : 23 Question Id : 600964173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
foG WERIFR @1 3f1%dl TGRS 3000 m &1 HERIFR @1 dell W 3E & (g = 10 m s ofd &1 9 = 1000
kg m™)

1.3x10°kg m™'s™?
2.3x10" kg m™'s™
3.3x10°kg m™'s
4,3x10%kg m's
Options :
600964689. 1
600964690. 2

600964691. 3
600964692. 4

Question Number : 24 Question Id : 600964174 Question Type : MCQ Option Shuftfling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A pan filled with hot food cools from 95°C to 85° C in 2 minutes when room temperature is 20° C.
The time taken by the food to cool from 55° C to 45° C will be

1.260 s
2.280 s
3.300s
4,320

Options :

600964693. 1
600964694. 2
600964695. 3
600964696. 4

Question Number : 24 Question Id : 600964174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T IS 8 WR1 Pl U 2 e 3 95 °C W 85 °C T &1 Biell 6, od D&-U 20 °C &1 59 HioH Bl 55
°C Y 45 °C 3P 31 M H O a1l Y &

1.260 s
2.280s
3.300s
4.320s

Options :

600964693. 1
600964694. 2
600964695. 3

34/223

collegedunia:

India’s largest Student Review Platform

~

T




9/18/2020
600964696. 4

Question Number : 25 Question Id : 600964175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A flask contains argon and chlorine in the ratio 2 : 1 by mass. The temperature of the mixture is 27°
C. The ratio of the average kinetic energy per molecule of argon to that of chlorine is

L1
2.1:2
34:1
4.1:4

Options :

600964697. 1
600964698. 2
600964699. 3
600964700. 4

Question Number : 25 Question Id : 600964175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foeft et # 4R 3 SR TN o Gouwl T ST 2: 1 &1 YU 1 a1 27 °C g1 M 3R
TR B1 Wi 3] 3 s Hulefl &1 U &

& i
2YEd
.21

41:4

Options :

600964697. 1
600964698. 2
600964699. 3
600964700. 4

Question Number : 26 Question Id : 600964176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Light of wavelength 6000 A is coming from a star. The limit of resolution of a telescope with

objective diameter of 244 cm will be

1,2x107 rad
2.3x107 rad
3,3x10 rad
4.2x107® rad

Options :

600964701. 1
600964702. 2
600964703. 3
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600964704. 4

Question Number : 26 Question Id : 600964176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

faraft AR & 6000 A TG 1 W1 31 T 81 foheft 244 cm oI & e Tad & A foft qeeia
B! faued 31 dm gt

1.2x107 rad
2.3x107 rad
3,3x10® rad
4, 2x107® rad

Options :

600964701. 1
600964702. 2
600964703. 3
600964704. 4

Question Number : 27 Question Id : 600964177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

37/223
gcollegedunlaa
India’s largest Student Review Platform

T



9/18/2020
Monochromatic light of frequency 6.0x10™ Hz is produced by a laser. The energy of a photon of the
light beam will be (h = 6.63x10-%) s)

1.398x107"°)
2.398x107" )
3,3.98x107¢)
4.398x107")

Options :

600964705. 1
600964706. 2
600964707. 3
600964708. 4

Question Number : 27 Question Id : 600964177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

faaft QIR GRT 6.0%10™ Hz 3Tafi &1 Uepavl HepTR] Ieda el 711 1 39 WapT) Ul o icH @l ol
gl (h = 6.63x10734) )

1.398x107° )
2.398x107" )
3.3.98x107)
4,398x107")

Options :

600964705. 1
600964706. 2
600964707. 3
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600964708. 4

Question Number : 28 Question Id : 600964178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An electron, an alpha particle and a proton have same kinetic energy. Which of the following
statements is true regarding their de-Broglie wavelength?

1. A electron < A alpha < A proton
2. A aipha < Aoroton < Aelectron
3.A alpha > Aoroton > Aelectron

4.\ proton 2 Ae.l;m » AEEEL'T."C-H

Options :

600964709. 1
600964710. 2
600964711. 3
600964712. 4

Question Number : 28 Question Id : 600964178 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. \(lambda\) gzt < \(\lambda\) g < \(\lambda\) gt
2.\(\lambda\) ¢ < \(\lambda\) et < \(\lambda\) gt
3.\(\lambda\) g1 > \(lambda\) gzt > \(\lambda) et
4.\(\lambdal\) it > \(\lambda) e > \(\lambdal) gt

Options :

600964709. 1
600964710. 2
600964711. 3
600964712. 4

Question Number : 29 Question Id : 600964179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The energy equivalent of 2 g of substance is (Velocity of light = 3x10° m s™)

1.1.8x10° )
2.18x10™ )
3.1.8x10" )
4.18x10" )

Options :

600964713. 1
600964714. 2
600964715. 3
600964716. 4
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Question Number : 29 Question Id : 600964179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1.1.8x10° )
2.1.8x10™ )
3.1.8x10" )
4.1.8x10" )
Options :
600964713. 1
600964714. 2

600964715. 3
600964716. 4

Question Number : 30 Question Id : 600964180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
To make 'n’ type semiconductor, the doping element will be

1. Boron

2. Phosphorous
3. Aluminium
4. Gallium

Options :
600964717. 1
600964718. 2
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600964719. 3
600964720. 4

Question Number : 30 Question Id : 600964180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

' TR B 3D G & (00 AGH (34 ad gl

1, 9RI

2. BRBRY

3, UqiwiaH

4. TlierH
Options :
600964717. 1
600964718. 2

600964719. 3
600964720. 4

Question Number : 31 Question Id : 600964181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

42/223
gcollegedunlaa
India’s largest Student Review Platform

T



9/18/2020

The following truth table represents

A B Y
0 0 0
0 1 1
1 0 1
1 1 1

1. AND gate

2. OR gate

3. NOR gate

4. NAND gate

Options :

600964721. 1
600964722. 2
600964723. 3
600964724. 4

Question Number : 31 Question Id : 600964181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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At & dt S gRoft e et
A B Y
0 0 0
0 1 1
1 0 1
1 1 1

1. AND 7l @I

2.0Rﬁ'§'$l

3, NORT[C &I

4, NAND 71 &1

Options :

600964721. 1
600964722. 2
600964723. 3
600964724. 4

Question Number : 32 Question Id : 600964182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The scientist who first developed an apparatus for generating ultra-short electromagnetic waves is

1. S.N. Bose

2. A. Hertz
3.).C. Bose
4. ). Maxwell

Options :

600964725. 1
600964726. 2
600964727. 3
600964728. 4

Question Number : 32 Question Id : 600964182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

19 eUaarad g a0 S B 1 SUBV [ Bt arel W] aqid ¢

1,09, U4, 91
2.0 5w
3.9, 4l 919
IRCRIGHG

Options :

600964725. 1
600964726. 2
600964727. 3
600964728. 4

Question Number : 33 Question Id : 600964183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Advance sunrise at a place on the surface of the earth is due to

1. Diffraction of light

2. Total internal refraction of light
3. Rotation of Earth
4. Atmospheric refraction of light

Options :

600964729. 1
600964730. 2
600964731. 3
600964732. 4

Question Number : 33 Question Id : 600964183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

0t & U R el R R 4 ey #1 R0 g

1, U1 1 fdaciH
2. THII B1 0 3R TWide
3, 7] i U 1fd
4, YT 1 AU Sfudc

Options :

600964729. 1
600964730. 2
600964731. 3
600964732. 4
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Question Number : 34 Question Id : 600964184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In Young's double slit experiment, the slit separation is 2 mm and the screen distance is 1.0 m. If the
wavelength of light is 600 nm, fringe separation will be

1.0.3 mm
2.3.0 mm
3.0.6 mm

4.6.0 mm
Options :
600964733. 1
600964734. 2
600964735. 3
600964736. 4

Question Number : 34 Question Id : 600964184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1 & fafardt i & f3R8-0ud 2 mm 341 06 31 &8 1.0 m 81 fS v 1 G 600 nm &, A
(Thol QYA I

1.0.3 mm
2.3.0 mm
3.06 mm

4.6.0 mm

Options :
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600964733. 1
600964734. 2
600964735. 3
600964736. 4

Question Number : 35 Question Id : 600964185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the circuit shown, the currents /; and I, are respectively

B\A
’ fi, b
5£‘.§ 150
i \
gA
1.L4A:4A
2.2A6A
3.6A:2A
45A:3A

Options :

600964737. 1
600964738. 2
600964739. 3
600964740. 4

Question Number : 35 Question Id : 600964185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

&g 770 fdgad uRuy H 4RIU /; 3R /, HAL: ©

1LA4A4A

2.2A:6A
3.6A:2A
45A:3A

Options :

600964737. 1
600964738. 2
600964739. 3
600964740. 4

Question Number : 36 Question Id : 600964186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The electric field due to an infinitely long thin straight wire with uniform linear charge density A at a
radial distance r from the wire is ( &; is the permittivity of free space)

1. \/dne,r?
2. \/2,

3. \/2ngqr?
4.\ 2ne,r

Options :

600964741. 1
600964742. 2
600964743. 3
600964744. 4

Question Number : 36 Question Id : 600964186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
(ol T O A9 97 | 3 3l RaTs o Ul o & DRV AR & B g8t r R fagua 8 g |
g TTRT DT B [AGTRITT (RIT) €

1. 3/4meyr?
2.1/2,

3. A/ 2ne,r?
4.2/ 2ne,r

Options :

600964741. 1
600964742. 2
600964743. 3
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600964744. 4

Question Number : 37 Question Id : 600964187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Materials suitable for making an electromagnet should have

1. High permeability, high retentivity
2. High permeability, low retentivity
3. Low permeability, low retentivity
4. Low permeability, high retentivity

Options :

600964745. 1
600964746. 2
600964747. 3
600964748. 4

Question Number : 37 Question Id : 600964187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

G & & folt Suged Ter @i gl dieu

1, 3o YR, 3o YROTSITeicl

2. o URI, (9 YROTiira
3, g urge, g Rl
4, 9 IR, I YRt
Options :
600964745. 1
51/223
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600964746. 2
600964747. 3
600964748. 4

Question Number : 38 Question Id : 600964188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An electric dipole is enclosed by a Gaussian surface (see figure). The total electric flux through the

surface is

1. g/
2. [ero

3. -q/gg
4 2/¢,

Options :

600964749. 1
600964750. 2
600964751. 3
600964752. 4
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Question Number : 38 Question Id : 600964188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

B3 dgd fayd fovell maita g GR1 oRes § (3R e | 53 U8 | ToRH ar $d fdqud Taa ¢

Options :

600964749. 1
600964750. 2
600964751. 3
600964752. 4

Question Number : 39 Question Id : 600964189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A charge Q is placed at the centre of a thin spherical shell of radius R. An electron is moved from
point A to point B (see figure). The total work done will be

1. Zero
3. Q/4neq(2R)
4. Depends on the path followed

Options :

600964753. 1
600964754. 2
600964755. 3
600964756. 4

Question Number : 39 Question Id : 600964189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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s 199 Q FIsn R & foeft vl el e & s W ¥ ¢ ol gaide 3l feg A 9 feg B 0w d
1] T @ (3R &) | fopat v e v g

1. 94
2. Q/4me,R

3. Q/4mey(2R) |
4, T a1l Y R (R B3

Options :

600964753. 1
600964754. 2
600964755. 3
600964756. 4

Question Number : 40 Question Id : 600964190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The resistance of the resistor shown in the figure is

Black Siver

Brown | Red

1. (10 x 10° Q) £ 5%
2. (10 x 10% Q) £ 10%
3. (20 x 10* ) £ 10%
4.(20 x 10* 0) + 5%

Options :

600964757. 1
600964758. 2
600964759. 3
600964760. 4

Question Number : 40 Question Id : 600964190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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I ¥ S0 U HicRIyS P UiakiY &

mmﬂﬁm
E'ﬂﬂ

Jl.

1. (10x10° 0
2. (10 10°
3. (

(20%10* 0
4.(20x 10 0

Options :

600964757. 1
600964758. 2
600964759. 3
600964760. 4

= = -

) + 5%
)1 10%
0) +10%
0) +5%

Question Number : 41 Question Id : 600964191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In a metre bridge the wire used is constantan or nichrome. This is because their

1. Resistivity is high

2. Resistivity is low

3. Temperature coefficient of resistivity is negligible
4. Melting point is high

Options :

600964761. 1
600964762. 2
600964763. 3
600964764. 4

Question Number : 41 Question Id : 600964191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HiieR ¥ & Pi-geTca ual b & AR &1 ST o6 oI 1 01 R ¢ 71/37)

1. UfcRIYdd 3o §

2 vfodvdd g
3, 10 el i Juefta §
4, TTdHIB 3

Options :

600964761. 1
600964762. 2
600964763. 3
600964764. 4
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Question Number : 42 Question Id : 600964192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the circuit (see figure), the value of current I is

40

MWW

-

1.033A
2.025A
3.020 A

4.0.15A
Options :
600964765. 1
600964766. 2
600964767. 3
600964768. 4

Question Number : 42 Question Id : 600964192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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agiiu 0 aRgy # (3R SRA0) YR BTAA §

4Q
—WW

7 30 6Q

{ |

[
2V, 2Q

1.033A

2.025A
3.020 A
4.015A

Options :

600964765. 1
600964766. 2
600964767. 3
600964768. 4

Question Number : 43 Question Id : 600964193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A charged particle enters perpendicular to a uniform magnetic field. Which of the following
statements is true for the charged particle?

1. Kinetic energy changes
2. Kinetic energy remains constant
3. Speed changes

4. Momentum remains constant
Options :
600964769. 1
600964770. 2
600964771. 3
600964772. 4

Question Number : 43 Question Id : 600964193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Bl AR DI (ohll VT Jradig &7 o &1 o civaae WaS &l | 39 Hdiid HU o o His-
T HH Tl 7

1, T7fcre Foft wikafefa gl @
2. i Syt v et &
3, 7 uafd g @
4, G P g g
Options :
600964769. 1

600964770. 2
600964771. 3
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600964772. 4

Question Number : 44 Question Id : 600964194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider a tightly wound 200 turns coil of radius 10 ¢m carrying a current of 1 A. The magnetic field
at the centre of the coil is (, = 4t x 1077 TmA™)

. 2nx107%T
2.4nx 1074 T
3.2nx 1073 T

4 4nx 1073 T

Options :

600964773. 1
600964774. 2
600964775. 3
600964776. 4

Question Number : 44 Question Id : 600964194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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10 cm 51 31 U AU 70 200 T ! obeft oo, o 1 A R el &1 281 €, W famiR
I | 38 UGl b b IR I 4T (= dmx 107 TmA™)

1.2nx107* T
24nx107* T
3.2nx107% T
4 4nx107° T

Options :

600964773. 1
600964774. 2
600964775. 3
600964776. 4

Question Number : 45 Question Id : 600964195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A horizontal component of Earth's magnetic field at a certain place is 3x 10-5 T and its direction is
from south to north. A long straight conductor carrying 2 A current is placed on a horizontal table
and the current goes from east to west. The force per unit length on the wire will be

1.15x10" Nm™!
2.3%x10"° Nm™
3.6x10°°Nm™
418x10°° Nm™!

Options :
600964777. 1

600964778. 2
63/223
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600964779. 3
600964780. 4

Question Number : 45 Question Id : 600964195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol U R gt & TaDIY 87 F1 8 9P 34 1075 769U 3D 1620 G0 F IR Bl 3R g
fapeft Aot At R g vl e A v ¢ foredl Ud @ ufdm 1 3R 2 A 4R e 81 e 1 39
R @1 Ui Ui Ty TR B aa g

11510 Nm™
23%x10"° Nm™
3.6X10° Nm™
418x10°° Nm™

Options :

600964777. 1
600964778. 2
600964779. 3
600964780. 4

Question Number : 46 Question Id : 600964196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The permeability of a paramagnetic substance, y as compared to permeability of free space, y, is

Lu>p,

AR

3. p<

4 u=p,
Options :
600964781. 1
600964782. 2

600964783. 3
600964784. 4

Question Number : 46 Question Id : 600964196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fopeft Srfgraa i Tere Pt Jraaicre, , 7o STHIN I YR, ,, B o 4 &l ¢

1.u>pn
2p»p

3.p<pn
du=p,

Options :

600964781.
600964782.
600964783.
600964784.

ol b =
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Question Number : 47 Question Id : 600964197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The magnetic energy stored in a solenoid in terms of magnetic field B, cross sectional area A and
length [ of the solenoid is

1. B*Alfy,
2. BAl/2y,
3. B*Al/2y,
4. BAl/p,
Options :
600964785. 1
600964786. 2

600964787. 3
600964788. 4

Question Number : 47 Question Id : 600964197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

JHGDIY &7, B IR BIC &A%, A 71 Ty, | Ul H fopadt aReTferT i radig Sl gl ©

1. B:Al/un
2. BAl/2y,
3.B%Al/2y,
- BAl/u_
Options :
66/223
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600964785. 1
600964786. 2
600964787. 3
600964788. 4

Question Number : 48 Question Id : 600964198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A transmission line feeds input power at 2200 V to a step down transformer having primary winding
of 1000 turns. To get the output power at 220 V, the number of turns in the secondary winding will
be

1.50
2.100
3.1000

4.10000

Options :

600964789. 1
600964790. 2
600964791. 3
600964792. 4

Question Number : 48 Question Id : 600964198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g TRV @15 1000 B 1 Wil Huset arel fosdl sraamdt ciawiR @1 2200 V R a9 Ui &1
SR B g1 220 VIR il Wided v e & forw facfias gugedt o 4R @t e g

1.50
2.100
3.1000
4.10000

Options :

600964789. 1
600964790. 2
600964791. 3
600964792. 4

Question Number : 49 Question Id : 600964199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The wavelength range of ultraviolet rays is

1.<10 nm
2.700nmto 1 mm
3. 400 nm to 700 nm

4.1 nm to 400 nm
Options :
600964793. 1
600964794, 2
600964795. 3
600964796. 4
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Question Number : 49 Question Id : 600964199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1. <107 nm

2.700 nm ¥ 1 mm
3,400 nm ¥ 700 nm
4.1 nm 9400 nm

Options :

600964793. 1
600964794. 2
600964795. 3
600964796. 4

Question Number : 50 Question Id : 600964200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A series LCR circuit is connected to an ac source of frequency 50 Hz. If the value of the inductor is
100 mH; for resonance, the value of the capacitor is (take n? = 10)

1.1yF
2. 10 uF
3. 100 uF

4. 1000 yF
Options :
600964797. 1
600964798. 2
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600964799. 3
600964800. 4

Question Number : 50 Question Id : 600964200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
50 Hz 3Mgf & ot St A P13 4oft LCR ufay Waifora g1 af IRe &1 91 100 mH €, f 316 &
foT0 GeIREA T HM & (2 = 10 ifoiy

1. 1uF
2.10 pF
3. 100 pF

4, 1000 pF

Options :

600964797. 1
600964798. 2
600964799. 3
600964800. 4

Part 11 Chemistry
Section Id : 6009645
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
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Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 6009645
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 600964201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.

Select the correct option for the structure of Iproniazid :

NH
! 2
H
H
0 N\ J\
N
) H
| N
7
N

NH,
3 HO

SOxNH;

NH,

Options :
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600964801. 1
600964802. 2
600964803. 3
600964804. 4

Question Number : 51 Question Id : 600964201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HIEHTATTS & WRe & ot e faded 1 19 Bifore:
(M
|

1

g H
| N
/5
N
NH,
3 HO
SOoNH;
4
NH,
Options :
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600964801. 1
600964802. 2
600964803. 3
600964804. 4

Question Number : 52 Question Id : 600964202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the pH of normal rainwater?

1.10.9
2.7.0
3.56

4,84

Options :

600964805. 1
600964806. 2
600964807. 3
600964808. 4

Question Number : 52 Question Id : 600964202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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I quioTe Pl pH FI 6 ?

1.109

2.7.0
3.5.6

4.84

Options :

600964805. 1
600964806. 2
600964807. 3
600964808. 4

Question Number : 53 Question Id : 600964203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the polymer in Column-| with its application given in Column-II :

Column-| Column-i
A. Polyvinyl chloride . Wrapping material
B. Polystyrene Il. Making electrical switches
C. Glyptal lIl. Manufacture of lacquers and paints
D. Bakelite V. Manufacture of raincoats
Select the correct option :
1. A-l, B-lI, CHII, DIV
2. A-1V, B, C-II, D-Il
3. AV, B-lll, I, D
4. A-1, B-IV, C-I, D-II

Options :

600964809. 1
600964810. 2
600964811. 3
600964812. 4

Question Number : 53 Question Id : 600964203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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PIo-1 ¥ 132 T TR 1 i1l H U T 37 I7amT 4 FAferd Bifor

BIGH- BIH-I
A Ulfcfagd aaivigs |1 3t wefa
B, Uifereergdi I, 35 el 1 fmior
C. e Il AR T B & 3ireifire fmfor A
D, §halze IV, SBIC & i 7
Ad QUL fabedl H 4 Wel IR AU

1. A-l, B-ll, C-lil, D-IV

2. A-1V, B, C-lll, D-II

3. A-1V, B-lI, C-lI, D~

4. A-, BV, C-I, D-llI
Options :

600964809. 1
600964810. 2
600964811. 3
600964812. 4

Question Number : 54 Question Id : 600964204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is the correct cyclic structure of b-D-(-)-fructofuranose?

6
HOH,C 0. OH
5 2
1. -
H CH,0H
4 1
OH H

T9/223
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Options :
600964813. 1
600964814. 2
600964815. 3
600964816. 4

Question Number : 54 Question Id : 600964204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B-D-(-)- AR 1 g Fbid Tl o o & HH-3 67

.
HOHLC 0. OH
- 2
2 CHOH
A 1
OH H
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Options :
600964813. 1
600964814. 2
600964815. 3
600964816. 4

Question Number : 55 Question Id : 600964205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Select the correct option for the one letter code for tryptophan, an amino acid.

1.1

2.P
3.H

4 W
Options :
600964817. 1
600964818. 2
600964819. 3
600964820. 4

Question Number : 55 Question Id : 600964205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Qe QRS TP 3 o0 Ua- 38R a1 1S 1 el 1 BT

Ll

2.P
3. H

4 W

Options :

600964817. 1
600964818. 2
600964819. 3
600964820. 4

Question Number : 56 Question Id : 600964206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For the following ions, choose the correct statement.

H R R
P RGA. Rl R A

| @ h|l® T h,‘@

H H R

1. 1l is the most stable in aqueous phase

2.1 is the most stable in aqueous phase
3. Il is the smallest in size
4. Il is the most stable in aqueous phase
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Options :
600964821. 1
600964822 2
600964823. 3
600964824. 4

Question Number : 56 Question Id : 600964206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

P 31 5 R ) o

R
|- R\NI,-H . "' R.,‘ i ‘_,H ' ”I' R\ | y
'@ h!l@ 1 l?'@

H R

1, el e # 11| o fRR g
2. Wiy ARy # | o fRR g
3, Il TR ¥ JaY BicT 5|

4, et a1 # || e fRR g

Options :

600964821. 1
600964822. 2
600964823. 3
600964824. 4

Question Number : 57 Question Id : 600964207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
84/223
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In the following reaction, what is A?

o ©
NoC NO;

® ©
N, BF
1.NaNO;
+HBF4—|~@ » +N2+HBF4

2.A, heat

1. Cu
2. Pd
3. Cu(l)
4. 5n

Options :

600964825. 1
600964826. 2
600964827. 3
600964828. 4

Question Number : 57 Question Id : 600964207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g aififear o A q1 82

g
NzC' N2 BF4 NO;

1.NaNO
+ HBFy — - N H
4 @ 2 A heat da

1. Cu

2. Pd
3. Cu (l)
4.5n

Options :

600964825. 1
600964826. 2
600964827. 3
600964828. 4

Question Number : 58 Question Id : 600964208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the given organic reaction

NC
1. CgHsMgBr in ether
2.H0*

« A

86/223

collegedunia:s

India’s largest Student Review Platform

~

T




9/18/2020

What is ‘A7

Options :

600964829. 1
600964830. 2
600964831. 3
600964832. 4

~

T
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Question Number : 58 Question Id : 600964208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

41 T Pl aifHfopan & ferg

NC
1. CgHsMgBr in ether
2. HL®

+ A
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Options :

600964829. 1
600964830. 2
600964831. 3
600964832. 4

Question Number : 59 Question Id : 600964209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the given organic reaction, what is A?

H H A H H

— - — + CHCI3
H3C CH; HqC ONa

0 0

1. NaOH

2. NaO(Cl
3. NaCl
4. Cl

Options :
600964833. 1

600964834. 2
89/223
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600964835. 3
600964836. 4

Question Number : 59 Question Id : 600964209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

& e SPRETAA AR

i - Y— + CHCl
HiC  /r~CH; HaC ONa

1. NaOH

2. NaOCl
3. NaCl
4, Cl,

Options :

600964833. 1
600964834. 2
600964835. 3
600964836. 4

Question Number : 60 Question Id : 600964210 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the following compounds in increasing order of acidity.

OH OH OH OH
NO,
I @ L @ . Il- @ V-
NOQ
NO,

Select the correct option.

LI<ll<IV<I

2.1 <IV<Iif<Ii

<<l <V

4.1 <l <lf <V
Options :

600964837. 1
600964838. 2
600964839. 3
600964840. 4

Question Number : 60 Question Id : 600964210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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OH OH OH OH

NO,

NO,
NO,

ol fdded JHL;

LI<Il<IV<I
21 <IV<IIf<Ii
<<« V
41<lI<lll<IV
Options :

600964837. 1
600964838. 2
600964839. 3
600964840. 4

Question Number : 61 Question Id : 600964211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What will be the product ‘A" in the given organic reaction?

Options :

93/223
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600964841. 1
600964842. 2
600964843. 3
600964844. 4

Question Number : 61 Question Id : 600964211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A €1 18 B v A Sag A F1 g ?

NaBH,
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600964841. 1
600964842 2
600964843. 3
600964844. 4

Question Number : 62 Question Id : 600964212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following compounds will be the most reactive towards Sy1 reactions?

Cl
1 Hﬁ*CHg

CHs
Cl

Options :

600964845. 1
600964846. 2
600964847. 3
600964848. 4

Question Number : 62 Question Id : 600964212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

~

T
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Sy,1 it & wid g Q! | 4 iH-91 gais sfifearia gim

Cl
1 ch\*/cm

CH,
C

Options :

600964845. 1
600964846. 2
600964847. 3

600964848. 4
98/223
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Question Number : 63 Question Id : 600964213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Select the correct option for the following structures of picric acid :

OH
1. HO
0

HOOC H

£

0 NO,

COOH
HO COOH

NO,

HO NO,

NO,
0c

2. ON
H
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Options :
600964849. 1
600964850. 2
600964851. 3
600964852. 4

Question Number : 63 Question Id : 600964213 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Ry o ) ST & U ) et T

OH
1. HO
HOOC OH
NO,
2. ON
HOOC  NO,
COOH
-
HO  COOH
NO;
4. ON
HO  NO;
Options :

600964849. 1
600964850. 2

101/223
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600964851. 3
600964852. 4

Question Number : 64 Question Id : 600964214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following compounds is aromatic?

Options :

600964853. 1
600964854. 2
600964855. 3
600964856. 4
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Question Number : 64 Question Id : 600964214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fg 0fiel @ PH-01 WA ¢ 7

Options :

600964853. 1
600964854. 2
600964855. 3
600964856. 4

Question Number : 65 Question Id : 600964215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Carius method is used for the quantitative analysis of

1. nitrogen
2. sulphur
3. halogen

4. phosphorous

Options :

600964857. 1
600964858. 2
600964859. 3
600964860. 4

Question Number : 65 Question Id : 600964215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o g o 1 e Ao ool 3 e g 1 22

1, FIZEIo
2, T
3, palor
4, PRBRY

Options :

600964857. 1
600964858. 2
600964859. 3
600964860. 4
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Question Number : 66 Question Id : 600964216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the nature of Lassaigne’s extract?

1. Neutral
2. Mild acidic

3. Strong acidic

4. Basic
Options :
600964861. 1
600964862. 2
600964863. 3
600964864. 4

Question Number : 66 Question Id : 600964216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o TR I UPId A6 ?

1, e

2. 7& 3wl
3. Jdd 3wy
4, 4RI

Options :
600964861. 1
600964862. 2

105/223
gcollegedunlaa
India’s largest Student Review Platform

T



9/18/2020
600964863. 3
600964864. 4

Question Number : 67 Question Id : 600964217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The osmotic pressure of equimolar solutions of sucrose, KCl and BaCl, will be in the order of

1. BaCl, < KCl < Sucrose
2. Sucrose < BaCl, < KCl
3. Sucrose > BaCl, > KCl
4, BaCl, > KCl > Sucrose

Options :

600964865. 1
600964866. 2
600964867. 3
600964868. 4

Question Number : 67 Question Id : 600964217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Goh1, KCI 3T BaCl,  JrHIciTd foeraH] 1 WRIRY &7 {6 # g1l 2

1. BaCl, < KCl < GhI¥

2. G < BaCl, < KCI
3, > BaCly > KCI

4. BaCl, > KCI > GHI

Options :
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600964865. 1
600964866. 2
600964867. 3
600964868. 4

Question Number : 68 Question Id : 600964218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The mass of urea (NH,CONH,) required for making 2.5 kg of 0.25 molal aqueous solution is

1.3.6% g

2.36.94 g
3.3121 ¢
4.3807¢

Options :

600964869. 1
600964870. 2
600964871. 3
600964872. 4

Question Number : 68 Question Id : 600964218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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0.25 HicTel iy faerd @1 2.5 kg §H & ot 1G9 FRaT (NH,CONH,) Bt 7T g

1.369¢
2.3694 ¢
3.3121¢
4.3807 g

Options :

600964869. 1
600964870. 2
600964871. 3
600964872. 4

Question Number : 69 Question Id : 600964219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The incorrect statement out of the following is

1. Temperature at which a real gas obeys ideal gas laws over an appreciable range of pressure is
Boyle temperature.

2. Compressibility factor is defined as the ratio of molar volume of the gas had it been ideal to the
actual molar volume of the gas.

3. Critical temperature of a gas is the temperature above which it cannot be liquefied no matter how

high the pressure is.
4. Critical pressure is the minimum pressure required to liquefy a gas at its critical temperature.

Options :

600964873. 1

600964874. 2
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600964875. 3
600964876. 4

Question Number : 69 Question Id : 600964219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

PR ERINRELCE

1, 39 & Q& TR R 95 a1 Ford R arafdd 19 s1ed] i foom < €, sfma am g

279 & ey gH W I9F Ay e TU1 39 dRafdd Al A & U & €Y H
e Ui 1 ukMiftd $Yd ¢

3,719 @1 Hifdd 1Y 95 d1U &, ofid SR T FdIyd Tel &I ol Gl ¢ dle forc1 i I <& o
M|

4, foafl 11 1 3 Pil<iep A0 W Gaiel e o 70 g 711 (g <1, il e |

Options :

600964873. 1
600964874. 2
600964875. 3
600964876. 4

Question Number : 70 Question Id : 600964220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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On the basis of the Maxwell-Boltzmann distribution of molecular speeds, identify the incorrect
statement in the following :

1. At the same temperature, N, molecules move faster than the Cl, molecules.

2. The maximum in the Maxwell-Boltzmann curve represents the most probable speed.
3. The average speed of CO, molecules is more than CHy molecules.

4. At a particular temperature, the individual speed of molecules keeps changing but the

distribution of speeds remains the same.

Options :

600964877. 1
600964878. 2
600964879. 3
600964880. 4

Question Number : 70 Question Id : 600964220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

31105 il o Hegdal-alecTdH §c & YR W % § G Te0d $4H Bl T

1, U B 19 TR Cly 0 DI el N, 0] ool 7efdl ¢

2. AFaa-SecTiH ap H I, Miidaw a7 &I i gl

3, €O, U3 B 31 i CH, o[ bt 3 i & Surel gielt ¢

4, 0 a1y am w, Spoait 3t fafkmy (oufara) 1fd aqard et § W 7 &1 de ag) Gl ¢

Options :

600964877. 1
600964878. 2
600964879. 3
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600964880. 4

Question Number : 71 Question Id : 600964221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the following reactions in Column-I to the correct enthalpy associated with them given in

Column-II:

Column-| Column-||
A C.H, (1) +20, +6C0,(g) + 3H,0() | AggeeH°
B. NaCl(s) - Na*(g)+ CI"(g) 'Il. BpygH’
C. AB(s) = A" (aq)+B(aq) II. A H°
D. A'(g)+B(g) ~A"(aq)+ B™(aq) V. B H

Choose the correct option from the following :

1. A-lll, B-I, C-IV, DI

2. A-lll, B-l, C-ll, D=1V

3. A-ll, B, C-IV, D-lI

4. A-lll, B-Il, C-I, D-IV
Options :

600964881. 1
600964882. 2
600964883. 3
600964884. 4

Question Number : 71 Question Id : 600964221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

~
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

g sififparaf @lar-) o1 378 Taild Tedt (@lan-1) § gafad Hifoe:

blaH- blaH-I
15
A CH,() + —-0; 60, (g) + 3H,0() | By HC
B. NaCl(s) = Na*(g) + CI™(g) 1. Ay gHE
C. AB(s) — A’ (aq)+B~(aq) Il. 4 He
D.A*(g)+B"(g) » A"(aq)+ B"(aq) V. 4,4H°

T RUT R 43 98 SR T

1. A-lll, B-I, C-IV, D-ll
2. A-ll, B, C-lI, D-IV
3. A-l, B, C-IV, DIl
4. A-lll, B-ll, C-, D-IV

Options :

600964881. 1
600964882. 2
600964883. 3
600964884. 4

Question Number : 72 Question Id : 600964222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Choose the incorrect statement out of the following :

1. In a reversible process, the system and surroundings are always in equilibrium with each other.
2. Work done in a free expansion > 0.
3. For adiabatic change, Aq=0.
4. For a process carried at constant pressure, AH=¢_ .
Options :
600964885. 1
600964886. 2

600964887. 3
600964888. 4

Question Number : 72 Question Id : 600964222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g H 9 Tad B P14 DI

1. JSPAVITY FghH H, o U A g I H T g
2. U e 119 o e R A s gan > 0 gl 8|
3.Wqﬁa?h$m,ﬂq=0

4. ROR T W 9 Y T WA & oY, aH=q

Options :

600964885. 1
600964886. 2
600964887. 3
600964888. 4

113/223

collegedunia:

India’s largest Student Review Platform

~

T



9/18/2020

Question Number : 73 Question Id : 600964223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the reaction, N,(g) + 3H,(g) = 2NH,(g) +22.2 kcal the effect of increasing temperature and
pressure on the equilibrium will be

A. On increasing temperature, the reaction will go backwards.

B. On decreasing pressure, the reaction will go backwards.

C. On increasing temperature, reaction will go forward.
D. On increasing pressure, reaction will go backward.

Choose the correct pair of statements from the above.

1.C.D
2AB
3.A.D

4.8,C
Options :
600964889. 1
600964890. 2
600964891. 3
600964892. 4

Question Number : 73 Question Id : 600964223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
114/223
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TN (g) + 3H,(g) = 2NH, () + 222 keal P [T TR R G Y1 T4 PI G 1 AT G
A, A e W, 3iffdrar oy fown &1 S

B. &1d e R, fufoban ug fom bt wred
C. duag W, 3ififdran 3 fewn &1 S
D. &1 g W, sk uy fom i sl
U H Y Al 1 Fl g U

1.C,D
2.AB
3.AD
4.8,C

Options :

600964889. 1
600964890. 2
600964891. 3
600964892. 4

Question Number : 74 Question Id : 600964224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The pH of a 1x10~® mol/L solution of NaOH at 25 °Ciis (Given : log 95 = 1.977)

1.7.10

2. 1.02
3.698

4.6.90

Options :

600964893. 1
600964894. 2
600964895. 3
600964896. 4

Question Number : 74 Question Id : 600964224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
25 °C TR NaOH @ 1x108 mol/L fdcid @1 pH 8

(e T @ : log 95 = 1.977)

1.7.10
2.7.02
3.6.98

4.6.90
Options :
600964893. 1
600964894. 2
600964895. 3
600964896. 4
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Question Number : 75 Question Id : 600964225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the molar solubility of zirconium phosphate Zr3(PO,), is S mol/L and its solubility product is K,
then the relationship between K, and S is

, A7
]‘S:(hsp)
6912

6912

Options :

600964897. 1
600964898. 2
600964899. 3
600964900. 4

Question Number : 75 Question Id : 600964225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ufe; livan BIEhe z¢, (po,), 31 AR ST S mol/L R o 391 fackad U R, dl

a1 & S o T g
1 ‘Ei-lﬁ
'S=(mu)
1/7
2 K = (i)
"’ 691%

3'_9:'!_1152_.\1

i6912!lq
4 = fh_rp\

\5184/

Options :

600964897. 1
600964898. 2
600964899. 3
600964900. 4

Question Number : 76 Question Id : 600964226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which of the following compounds, none of the elements has a fractional oxidation number?

1. Na,$,0,
2. Mn,0,
3.C;0,

4. H,0,

Options :
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600964901. 1
600964902. 2
600964903. 3
600964904. 4

Question Number : 76 Question Id : 600964226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fm gifie] 4 @ fad ot oft o @ s affadioeur dem i € 2

1. Na,$,0,

2. Mn,0,

3 CEI 02

4'H:O:
Options :
600964901. 1
600964902. 2

600964903. 3
600964904. 4

Question Number : 77 Question Id : 600964227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The standard Gibbs free energy for the following reaction is
Fe* (aq)+Ag"(aq) — Fe™ (aq)+Aq(s

Given E”Ag.l,hg =080V; E'cp e =001V ; E o =-044V

1.-2.894 kJ/mol

2.-2.894 )/mol
3. -239.287 kl/mol
4,239.287 kl/mol

Options :

600964905. 1
600964906. 2
600964907. 3
600964908. 4

Question Number : 77 Question Id : 600964227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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o sifiiforan & forg arias el e Sl @
Fe’* (aq)+Ag’(aq) — Fe™(aq)+Ag(s)
GiVEﬂ " EDAQ" /Ag - 080 V : EQFEE’I'FE:‘ - 0 7? V ; EQF!;’FE - -0 4‘4 V

1.-2.894 kJ/mol
2.-2.894 )/mol

3. -239.287 kJ/mol
4. 239.287 kJ/mol

Options :

600964905. 1
600964906. 2
600964907. 3
600964908. 4

Question Number : 78 Question Id : 600964228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The molar conductance of a solution with conductivity 0.248 S m~" and concentration 0.2 mol m™>
IS
1.0.124 S cm? mol ™
2.124 Sm? mol™’
3,124 S cm® mol™
4,124 Smé mol™’
Options :

600964909. 1
121/223
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600964910. 2
600964911. 3
600964912. 4

Question Number : 78 Question Id : 600964228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U i 1 Aidhal 0.248 S m~! Ul Fieall 0.2 mol m~3 8, il 3! HIeR dcided

Al i .
1.0.124 S cm* mol”

2.1.24 Sm?mol™
3.124 S cm? mol ™
4.124 S m? mol™

Options :

600964909. 1
600964910. 2
600964911. 3
600964912. 4

Question Number : 79 Question Id : 600964229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For a reaction, A + B - products, the rate is doubled when the concentration of B is halved (keeping
[A] constant), while the rate is halved when the concentration of A is halved (keeping [B] constant).
The overall order of the reaction is

1.1

2.0.5
3.0
4.2

Options :

600964913. 1
600964914. 2
600964915. 3
600964916. 4

Question Number : 79 Question Id : 600964229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AP 4 + B - SUIG F feT ([A) DI FRR TG 50 ) 5 B Bl Wt arel v & it €, e
& I g Wil © 3R ( [B) 1 FRR Tad g0 ) Fa A 1 st el & o ot €, at fobn it o ot @)
Ol 1 X AR W o ol e @

1.1
2.05
3.0

4.2

Options :
600964913. 1
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600964914. 2
600964915. 3
600964916. 4

Question Number : 80 Question Id : 600964230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a graph of a first-order reaction of R = P?

one. of

e R ogRyR :

Choose the correct option from the following :

l.a
2.b
3c
4.d

Options :
600964917. 1
600964918. 2
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600964919. 3
600964920. 4

Question Number : 80 Question Id : 600964230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g # 8 PH-G1 0y Sife AffE p o p PTG 6 2

s
B TR

4.d.

Options :

600964917. 1
600964918. 2
600964919. 3

In|R]

Ing [Rlo/IR]

los

IR,

~

T

125/223

collegedunia:s

India’s largest Student Review Platform



9/18/2020
600964920. 4

Question Number : 81 Question Id : 600964231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The process of removing ions (or molecules) from a sol by diffusion through a permeable membrane

is called

1. Ultrafiltration
2. Dialysis

3. Electrophoresis
4, Osmosis

Options :

600964921. 1
600964922. 2
600964923. 3
600964924. 4

Question Number : 81 Question Id : 600964231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U TR fRyeet ) gy faeRu g fovelh i & o (3imiei) 1 ger & WebH &) gl il €

1, g e (3feeheeyH)
2. 3{UIgH (STafer)

3, SUATHRIY

4, TRIROT (S ATR)
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Options :
600964921. 1
600964922 2
600964923. 3
600964924 4

Question Number : 82 Question Id : 600964232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When NaCl solution is added to a solution of AQNO,, the AgCl sol produced is

1. Negatively charged due to the adsorption of NO;™ ions.

2. Negatively charged due to the adsorption of CI™ ions.
3. Positively charged due to the adsorption of H™ ions.

4, Positively charged due to the adsorption of Ag™ ions.
Options :
600964925 1
600964926, 2
600964927. 3
600964928, 4

Question Number : 82 Question Id : 600964232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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9 NaCl faea &1 AGNO, & faera # fireirn i 8, Wl & are AgCl
1. NO,~ I & Il & HRYT BUNGIAA BIcl

2. CI~ 3] & OIS & SR BTG il @

3, H* TR & SR b ROl eFTIafRi €l

4, Ag* ST o AT & BRI AR giel 8

Options :

600964925. 1

600964926. 2

600964927. 3
600964928. 4

Question Number : 83 Question Id : 600964233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Temperature 23 °F is equal to in °C.

1.+5

2-5

3.+7

4.-1
Options :
600964929. 1
600964930. 2

600964931. 3
600964932, 4

Question Number : 83 Question Id : 600964233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

dIy 23 *F R g (°C H)

l.+5

=9

3.+ 1

4.-1
Options :
600964929. 1
600964930. 2

600964931. 3
600964932, 4

Question Number : 84 Question Id : 600964234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In face-centred cubic (fcc) structure, each sphere is in contact with spheres.

1.6
2.8
3.12

4.4

Options :

600964933. 1
600964934. 2
600964935. 3
600964936. 4
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Question Number : 84 Question Id : 600964234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TaD- Pl 1Y (fec) TG H Wl el fdba Tl & Grach H g 2

1.6

2.8
3. 12

4.4

Options :

600964933. 1
600964934. 2
600964935. 3
600964936. 4

Question Number : 85 Question Id : 600964235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A 50-watt bulb emits monochromatic yellow light of wavelength of 0.60 um. The number of photons

emitted per second by the bulb is

1.23 x 10%
2.1.1x 10"
3.18x 10"
4,15 x 10%

Options :
600964937. 1
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600964938. 2
600964939. 3
600964940. 4

Question Number : 85 Question Id : 600964235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
50 d1¢ &1 U §cd 0.60 um dwiiqe] &1 Uhavl] diam yare Seafoid ¥l &1 aed gR1 Jeafoid Ufd

1.23 x 10%
2.1.1x 10"
3,18 x 10"

4.1.5 x
Options :
600964937. 1
600964938. 2
600964939. 3
600964940. 4

TL

2

1
10
10
10

Question Number : 86 Question Id : 600964236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Electron gain enthalphy of elements in decreasing order of magnitude is

1.F>5>0>(
2. F>0>5C
3.CF>S>0

4. CI>F>0>S
Options :
600964941. 1
600964942 2
600964943. 3
600964944. 4

Question Number : 86 Question Id : 600964236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

dvdl &l gefdel diel TRIed) & URHI &1 9ed $9 &

1.F>$0>0
2. F>0>5C
3. C>F>S>0

4. CI>F>0>S

Options :

600964941. 1
600964942 2
600964943. 3
600964944 4

Question Number : 87 Question Id : 600964237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match the rule/theory in column-I with their scientists, who proposed them given in column-II ;

Column-| Column-i
A. Octet rule . Heitler-London
B. Covalent bond . Kossel-Lewis
C. Valence-bond theory Il Hund-Mulliken
D. Molecular orbital theory V. Langmuir
Select the correct option :
1. A-ll, B-lll, C-IV, DI
2. A-lll, B-1V, C|, Dl
3. A-IV, B, C-II, DIl
4. A-ll, B-IV, C, DIl

Options :

600964945. 1
600964946. 2
600964947. 3
600964948. 4

Question Number : 87 Question Id : 600964237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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- Ry e Rl 31 s 3 Ry 0 3 e 3 4t S 4 g e

W

DI

PIcH-I

A, 35 T

. RIQCCR-C{5

B, YgHulcid e

C. G- 3fe g

D. 3V Hidh i

1 QU U fqdedl H ¥ Tel TR AT

1. A-ll, B-lll, C-IV, D~
2. A-lll, B-1V, C-, Dl
3. A-IV, B, C-lI, D-Ill
4. A-ll, B-IV, C-I, D-IV

Options :

600964945. 1
600964946. 2
600964947. 3
600964948. 4

Question Number : 88 Question Id : 600964238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

~
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At atmospheric pressure, ice crystallises in the X form, however it condenses to ¥ form at lower
temperature. What are X and ¥?

1. X = cubic, Y = hexagonal
2. X = cubic, Y = cubic
3. X = hexagonal, ¥ = hexagonal
4. X = hexagonal, Y = cubic
Options :
600964949. 1
600964950. 2

600964951. 3
600964952, 4

Question Number : 88 Question Id : 600964238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A & R b x ¥ H foeferd gl ¢ oafe g au R ag v 0 d Gufd gl g | X qul v
67

1.X = TG, ¥ = §Chiviig

2. X =YY, ¥ =¥1g

3, X = WCalUllg, v = §eaiulig
4, X = YeoIUlig, v = ¥y
Options :

600964949, 1

600964950. 2
600964951. 3
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600964952. 4

Question Number : 89 Question Id : 600964239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The most abundant cation within cell fluids which participates in the oxidation of glucose to produce

ATPis

1. sodium ion

2. magnesium ion
3. potassium ion
4. calcium ion

Options :

600964953. 1
600964954. 2
600964955. 3
600964956. 4

Question Number : 89 Question Id : 600964239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HIRIHT ([ §d b a2 gard 9 e arell S, S ATP U &Rl 8 Wil & o J 4
Uare, e

1, GIfSTH 3

2. HURIGH 3
3, Ut R 3
4, I A

Options :

600964953. 1
600964954 2
600964955. 3
600964956. 4

Question Number : 90 Question Id : 600964240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the elements in column-! with their ore in column-Il :

Column-| Column-I
A. Boron I Kernite
B. Aluminium 1|I. Galena
C. Tin lIl. Cryolite
D. Lead 'IV. Cassiterite
Select the correct option : |
1. A-ll, B-lIl, C-IV, Dl
2. A-l, B-lll, C-1V, D-lI
3. A-IV, B, C-lI, D-III
4. A-l, BV, C-I, DIl
Options :

600964957. 1
600964958. 2
600964959. 3
600964960. 4

Question Number : 90 Question Id : 600964240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

~
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IeH-| H 147 0 el BT Plem-1l H (4T 70 37 el & FAferd pifoiT:

HIcH-

)

PIcIH-I

A GRI

KT s

. G

[RIGEI

I, prfeirSe

14 feu T fasel 9w

V. SieREe

1. A-ll, B-lll, C-IV, D
2. A-1, B-Ill, C-IV, DI
3. A-1V, B, C-I, DIl
4. A-l, B-IV, C-I, DIl

Options :

600964957. 1
600964958. 2
600964959. 3
600964960. 4

IR

1T

Question Number : 91 Question Id : 600964241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

~
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Water gas and producer gas are respectively

1.CO+H, and CO+N,
2. C02 7 Hz and CO+ N2
3.C0 + Hg and COg + Ng
4,C0)+H, and CO,+N;

Options :

600964961. 1

600964962. 2

600964963. 3
600964964. 4

Question Number : 91 Question Id : 600964241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-3 19 (@1 T19) el 1G-SR 114 (BT 719) €, o

1.CO + H,d41CO + N,

2.CO; + Hy d41CO + N,
3.CO + H;H?ﬂ C02 t Ng
4,CO; + HydY41 CO, + N,

Options :

600964961. 1
600964962. 2
600964963. 3
600964964. 4
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Question Number : 92 Question Id : 600964242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the froth floatation process, which one of the following can be used as froth stabilizer?

1. Pine ol

2. Fatty acid
3. Xanthate

4. Aniline
Options :
600964965. 1
600964966. 2
600964967. 3
600964968. 4

Question Number : 92 Question Id : 600964242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U1 i Wbl H 0 9 fobiT RiTdiot] o &0 # e fobl o W 8 2

1. 15 1 I (U Q)
2. Tl UfYS

3, Wie

4, Ui

Options :

600964965. 1
600964966. 2
600964967. 3
600964968. 4
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Question Number : 93 Question Id : 600964243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
At elevated temperature (~1000 K), sulphur exists as

LS;
2.
3.5,
4.5

Options :

600964969. 1
600964970. 2
600964971. 3
600964972. 4

Question Number : 93 Question Id : 600964243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e (~1000 K) TR TR (o & H firreli 2

1.y
25
3.5,
4.5,

Options :
600964969. 1
600964970. 2
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600964971. 3
600964972. 4

Question Number : 94 Question Id : 600964244 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Among the given halides, which one is the least covalent?

1. SbCls
2. 5nCl;
3. SnCl,
4. PoCly

Options :

600964973. 1
600964974. 2
600964975. 3
600964976. 4

Question Number : 94 Question Id : 600964244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

39 SISt # B PIH-81 e TeauioiD g ?

1. SbCls
2. SnCl,
3. 5nCl,
4. PbCl,

Options :
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600964973. 1
600964974. 2
600964975. 3
600964976. 4

Question Number : 95 Question Id : 600964245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the compounds in column-| with their geometry given in column-ll :

Column-| Column-I|
IA. XeO; . Distorted octahedral
B. XeOF, Il Square pyramidal
C. XeFg lIl. Square planar
D. XeF, . Pyramidal
Select the correct option :
1. A1V, B-lll, C-II, D-|
2. A-lll, B-IV, C-, D-I
3. A-IV, B-ll, C-I, DIl
4. A-lI, B-1V, C-I, D-lll
Options :

600964977. 1
600964978. 2
600964979. 3
600964980. 4
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Question Number : 95 Question Id : 600964245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i1 ¥ U MU e B Biew-11 7 € 7 e @ Gl i

BIcH- BIH-I
A. XeO; 1. [9d SPHaDI
B, XeOF, 1. 3 FRAE)
C. XeFe 1, &7 et
D. XeF, v, R

A feUu fadedl # ¥ el TR MU

1. A-IV, B-lll, C-lI, D

2. A-ll, B-IV, C-I, D-ll

3. A-1V, B-ll, C-, DIl

4, A-ll, B-IV, C-, D-lII
Options :

600964977. 1
600964978. 2
600964979. 3
600964980. 4

Question Number : 96 Question Id : 600964246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

~
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Which of the following fluoride is not known?

1. Crfe
2. MnF;
3. MnF,4
4 CI’F{-,

Options :

600964981. 1
600964982. 2
600964983. 3
600964984. 4

Question Number : 96 Question Id : 600964246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 H 4 BH-91 RIS 91d Tol 6 2

1. CfF;j
2. MnF¢
3. MﬂF_q

4. Crfs

Options :

600964981. 1
600964982. 2
600964983. 3
600964984. 4

Question Number : 97 Question Id : 600964247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

In the given statements, which is not true for an interstitial compound?

1. Retains metallic conductivity

2. Vlery hard
3. High melting point, lower than those of pure metals
4. Chemically inert

Options :

600964985. 1
600964986. 2
600964987. 3
600964988. 4

Question Number : 97 Question Id : 600964247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SieRTelt AT & AR # i o 8 B9 H gl Tl ¢

1. 8T ol H1aH 76 §

2 ATGABOREAE -
3, S T 3 il @ Jelfl 9 9+ fa: a1l & e gl
4,4 S €9 4 fAisha §

Options :

600964985. 1

600964986. 2

600964987. 3

600964988. 4
147/223

collegedunia:s

India’s largest Student Review Platform

~

T




9/18/2020

Question Number : 98 Question Id : 600964248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct electronic configuration of Ytterbium (Yb) whose atomic no. is 70, is

1. [Xe]4f'25d%6s?
2. [Xe]4f'*5d%6s"
3, [Xe4f'*5d"6s’
4. [Xe)4f"*5d%s?

Options :

600964989. 1
600964990. 2
600964991. 3
600964992. 4

Question Number : 98 Question Id : 600964248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

qCIqaH (Yb), forid! TRHIV] 11 70 &, &1 9g! gaidciivd (4-ar g

1. [Xe]4f'25d%s?
2. [Xe]4f'"“5d°6s"
3, [XeJ4f'*5d"6s’
4, [Xe)4f'*5d%s?

Options :
600964989. 1
600964990. 2
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600964991. 3
600964992, 4

Question Number : 99 Question Id : 600964249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct increasing order of the ligands on the basis of splitting of d orbitals.

1. edta* < NH; < CN-<en
2.en < edta” < NH; < CN”
3, edta” < NH3 < en < CN-
4.en < NH; < edta® < CN°

Options :

600964993. 1
600964994. 2
600964995. 3
600964996. 4

Question Number : 99 Question Id : 600964249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
¢ o faUTeT P 3R R ferTs! (Geiia) &1 el dgal HH AT

1. edta® < NH; < CN" < en

2.en < edta* < NH; < CN”

3, edta* < NHy < en < CN-

4.en < NH; < edta® < (N
Options :
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600964993. 1
600964994. 2
600964995. 3
600964996. 4

Question Number : 100 Question Id : 600964250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
d-orbital splitting in a tetrahedral crystal field is

2/5)A; above barycentre and (3/5)A; below barycentre

[
(2/5)4, above barycentre and (3/5)4, below barycentre
[

[

2/5)A: below barycentre and (3/5)A; above barycentre

)
)
)
2/5)A, below barycentre and (3/5)A, above barycentre
Options :

600964997. 1

600964998 2

600964999. 3

6009641000. 4

Question Number : 100 Question Id : 600964250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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IqBAPY fbeed 47 H d-4 fue g

1. Bad B (2/5)4, PR I d5d & (3/5)4,
2. 5Gd B (2/5)A, TR AU 55 B (3/5)A, Al
3 W $ 2/5)A; A qU Bgd & (3/5)A: R
4, Dgd & (2/5)A,

Options :

600964997. 1

600964998, 2

600964999. 3
6009641000. 4

A, A1 dU 5D & (3/5)A, HR

Part III Agriculture
Section Id : 6009646
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 6009646
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 600964251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Headquarter of Indian Meteorological Department is situated in which city?

1. New Delhi

2. Mumbai
3. Bengaluru

4. Pune

Options :

6009641001. 1
6009641002. 2
6009641003. 3
6009641004. 4

Question Number : 101 Question Id : 600964251 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

R 1w fHTT &1 e dl R4d 67

1,75 fod

2, iy

3, §10R

4.90
Options :
6009641001. 1
6009641002. 2

6009641003. 3
6009641004. 4
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Question Number : 102 Question Id : 600964252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which among the following is not a greenhouse gas?

1. Ammonia

2. Carbon dioxide

3. Water vapour

4. Methane
Options :
6009641005. 1
6009641006. 2

6009641007. 3
6009641008. 4

Question Number : 102 Question Id : 600964252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fgfofdd # @ oi-8 feRg 1 181 2

1, 3T
2. PIe SRHES
3, vl
4, Y
Options :

6009641005. 1
6009641006. 2
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6009641007. 3
6009641008. 4

Question Number : 103 Question Id : 600964253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following factors stimulate the enzymes activity?

A.  Substrate concentration

B. pH

C.  Temperature

D.  Enzyme concentration

Choose the correct answer from the options given below:

1. Aonly
2.Aand B

3.A BandC

4 A B CandD

Options :

6009641009. 1
6009641010. 2
6009641011. 3
6009641012. 4

Question Number : 103 Question Id : 600964253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

U-i1gH 3! foparstiarar e 9 @ o R R AR adl 872

A TR Bl ]

B. LW

C. A9

D. U~iTGH i Wl

T & e faeedt | @ Hg) SR T

1.$qd A
2ATGB
3.A BTG C
4.A B CU3D
Options :
6009641009. 1
6009641010. 2

6009641011. 3
6009641012. 4

Question Number : 104 Question Id : 600964254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one is disaccharide carbohydrate?

1. Glucose

2. Galactose
3. Lactose

4, Fructose
Options :
6009641013. 1
6009641014. 2
6009641015. 3
6009641016. 4

Question Number : 104 Question Id : 600964254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SRS FATEIESC DI-T1 37

4, el

Options :

6009641013. 1
6009641014. 2
6009641015. 3
6009641016. 4

Question Number : 105 Question Id : 600964255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. Nucleus .I. C. Benda
B. Mitochondria || Porter

C. Endoplasmic reticulum | Ill. Dave

D. Lysosome V. Robert Brown

Choose the correct answer from the options given below:

1. A-IV, B-Il, C, DI

2. A-IV, B-lI, C-, D-II

3. A-IV, B-lll, C-lI, DI

4. A-IV, B-I, C-II, DIl
Options :

6009641017. 1
6009641018. 2
6009641019. 3
6009641020. 4

Question Number : 105 Question Id : 600964255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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{Eﬁ-lﬁﬁ?ﬁ-ll @Iﬁﬁfﬁﬂﬁﬁlﬂ:

3l - I
A D5 1.9, queT
B, HIZIP UG LT
C. e wifeid 11,34
D. TgHIH V. & F3H

Ad U U fadbedl 7 9 Hel IR T

1. A-1V, B-lIl, C, Dl

2. A-IV, B-ll, C-I, DIl

3. A-1V, B-lll, C-lI, D-|

4. A-IV, B-I, C-lI, DIl
Options :

6009641017. 1
6009641018. 2
6009641019. 3
6009641020. 4

Question Number : 106 Question Id : 600964256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements is correct in relation to meiotic division?

1. Formation of chiasma and crossing-over takes place in Diplotene.
2. Nucleolus and nuclear membrane disappear in Diakinesis.

3. Chromosomes become shorter and thicker in Pachytene.

4. Synaptonemal complex develops during Leptotene.

Options :

6009641021. 1
6009641022. 2
6009641023. 3
6009641024. 4

Question Number : 106 Question Id : 600964256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IR fauer & gl A P S en-m P Wl 7

1, HI0H1 BT (af0 g PHiRw-iaR e 4 3id &
2. SEPHIRI H il T b feel! q & ol ¢!
3, Uprgfe ¥ TUREA owalg H 6 T4 HIC gl Wid ¢

4, APICH H WA B iclad 1 faPma il 8|

Options :

6009641021. 1
6009641022. 2
6009641023. 3
6009641024. 4
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Question Number : 107 Question Id : 600964257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is known as initiation codon?

1. ACC

2. AUG
3. AUC

4. UAC

Options :

6009641025. 1
6009641026. 2
6009641027. 3
6009641028. 4

Question Number : 107 Question Id : 600964257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fAgfciid @ 9 8 RIBIE BISH AF W1l &2

1. ACC
2. AUG
3. AUC

4. UAC

Options :

6009641025. 1
6009641026. 2
6009641027. 3
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6009641028. 4

Question Number : 108 Question Id : 600964258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which is the best breeding method for an individual having tight linkage between desirable and
undesirable characters?

1. Mutation breeding
2. Bulk breeding

3. Heterosis breeding
4. Clonal breeding

Options :

6009641029. 1
6009641030. 2
6009641031. 3
6009641032. 4

Question Number : 108 Question Id : 600964258 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ford oifq  aifesd Ud araifese Ui #f e gl 6, 37 o 1 48 fafdl -3 &2

1, JARGAH T

2. B¢ Yot

3, G 3 Yol

4, 30D G oA
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Options :
6009641029. 1
6009641030. 2
6009641031. 3
6009641032. 4

Question Number : 109 Question Id : 600964259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is a self-pollinated crop?

1. Sunflower
2. Safflower

3. Castor
4. Groundnut

Options :

6009641033. 1
6009641034. 2
6009641035. 3
6009641036. 4

Question Number : 109 Question Id : 600964259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ffafad ¥ W-WIfid bud o1 87

1. Yol
2. YA
3, IV
4, YTl

Options :

6009641033. 1
6009641034. 2
6009641035. 3
6009641036. 4

Question Number : 110 Question Id : 600964260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is known as addition of one chromosome to one pair in a diploid set?

1. Monosomic
2. Nullisomic
3. Trisomic

4. Polysomic

Options :

6009641037. 1
6009641038. 2
6009641039. 3
6009641040. 4

Question Number : 110 Question Id : 600964260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

FTIIOT AT o SIS ¥ U TURGA 1 S5l &1 dgaliel 67

3, CI54MHld

4, Ui
Options :
6009641037. 1
6009641038. 2

6009641039. 3
6009641040. 4

Question Number : 111 Question Id : 600964261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Steps involved in tissue culture technique are

A.  Proliferation

B. Culture medium
C.  Germination

D. Tissues

E. Callus formation
Choose the correct answer from the options given below:

1.A,B,C DandE
2.B,A CDandE
3.8,A D, CandE
4.D,8,A EandC

Options :

6009641041. 1
6009641042. 2
6009641043. 3
6009641044. 4

Question Number : 111 Question Id : 600964261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Jad Gt ddia & fbart gidt @
A U

B Hde A

C G

D. b

E dad oo

At fau o fadedl & 4 w6l SR T

1.A.B,C D3RE

2.8,A,CD3RE
3.8,AD, C3RE
4.D,B,A E3RC

Options :

6009641041. 1
6009641042. 2
6009641043. 3
6009641044. 4

Question Number : 112 Question Id : 600964262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which organism’s cell wall is made up of ‘Chitin’?

1. Plant

2. Fungi
3. Algae

4. Bacteria

Options :

6009641045. 1
6009641046. 2
6009641047. 3
6009641048. 4

Question Number : 112 Question Id : 600964262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fob d 1 i el Bt o1 & gt &7

1. UleY

2. Ddd

3. 2dId

4, Wil
Options :
6009641045. 1
6009641046. 2

6009641047. 3
6009641048. 4
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Question Number : 113 Question Id : 600964263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the causal organism of potato wart disease?

1. Bacteria

2. Actinomycetes
3. Fungi
4. Virus

Options :

6009641049. 1
6009641050. 2
6009641051. 3
6009641052. 4

Question Number : 113 Question Id : 600964263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1) H aIE X 1 WSS DH-1 67

Options :

6009641049. 1
6009641050. 2
6009641051. 3
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6009641052. 4

Question Number : 114 Question Id : 600964264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is Indian Veterinary Research Institute located?

1. Karnal

2. New Delhi
3. Mathura
4. |zzatnagar

Options :

6009641053. 1
6009641054. 2
6009641055. 3
6009641056. 4

Question Number : 114 Question Id : 600964264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YRl U] Fafdhe SRy SR Sl [ 67
1. DI

2. 75 fawe

3 0]
4, THITR

Options :
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6009641053. 1
6009641054. 2
6009641055. 3
6009641056. 4

Question Number : 115 Question Id : 600964265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which cross combination has been adopted to develop hybrid cow ‘Karan Fries”?

1. Holstein Friesian ~ x  Tharparkar
2. Tharparkar x  Holstein Friesian
3.Jersey x  Sahiwal
4 Sahiwal x  Jersey

Options :

6009641057. 1
6009641058. 2
6009641059. 3
6009641060. 4

Question Number : 115 Question Id : 600964265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

170/223
gcollegedunlaa
India’s largest Student Review Platform

T



9/18/2020

T ®1 G Gollfd B0 B Bl f[apRid e & iU DH-91 60 991 T[N

137@?7(‘:]3%@ X YRUR Y
2. YRUNPY X aﬂﬁﬁﬁﬁﬁm
39ff  x  ORlaW
LU x ol

Options :

6009641057. 1
6009641058. 2
6009641059. 3
6009641060. 4

Question Number : 116 Question Id : 600964266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who is known as Father of White Revolution?

1. M. S. Swaminathan

2.B.P. Pal
3. G. C. Banerjee

4.V. ). Kurian
Options :
6009641061. 1
6009641062. 2
6009641063. 3
6009641064. 4

Question Number : 116 Question Id : 600964266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

I li-d BT TP (b HHT I 67

1. UH, 09, @1
2. 9 Ul Ui
3, oft o, &el]

4,91 9. P

Options :

6009641061. 1
6009641062. 2
6009641063. 3
6009641064. 4

Question Number : 117 Question Id : 600964267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which is a dual purpose breed of cattle?

1. Deoni
2. Sahiwal
3. Tharparkar

4. Rathi
Options :
6009641065. 1
6009641066. 2
6009641067. 3
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6009641068. 4

Question Number : 117 Question Id : 600964267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T i fdprolt 7% -1 82

1. @l

2. TTeHard

3. YRUYRDY

4,101
Options :
6009641065. 1
6009641066. 2

6009641067. 3
6009641068. 4

Question Number : 118 Question Id : 600964268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following animals is known as poor man’s cow?

1. Desi Cow
2. Sheep
3. Goat

4. Camel

Options :
6009641069. 1
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6009641070. 2
6009641071. 3
6009641072. 4

Question Number : 118 Question Id : 600964268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fgfiad # 9 SH-81 U8 TR B T & ¥ § SH o1 67

1. T

2,93

4. 3¢
Options :
6009641069. 1
6009641070. 2

6009641071. 3
6009641072. 4

Question Number : 119 Question Id : 600964269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which among the following animals provides nutritional and livelihood security to under-privileged
rural people?

1. Goat
2. Buffalo
3, Cattle

4. Camel
Options :
6009641073. 1
6009641074. 2
6009641075. 3
6009641076. 4

Question Number : 119 Question Id : 600964269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 5 Y PIH-91 SR dfdt Jedion il 1 O Ud Sfeiifdep! GR&M WaH &l 67

1, g4
299
3.7
4, 3¢

Options :

6009641073. 1
6009641074. 2
6009641075. 3
6009641076. 4
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Question Number : 120 Question Id : 600964270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the pasteurization temperature for milk in LTLT?

133
2.58°C
3.63°C

4,68 °C
Options :
6009641077. 1
6009641078. 2
6009641079. 3
6009641080. 4

Question Number : 120 Question Id : 600964270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U, 1. . &, # TRl & fof a1udM o g 87

1.53°%C

2.58 °C
3.63°C
4,68 °C

Options :
6009641077. 1
6009641078. 2
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6009641079. 3
6009641080. 4

Question Number : 121 Question Id : 600964271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How much is the lactose content in sheep milk?

1.3.3%
2.43%
3.53%
4.6.3%

Options :

6009641081. 1
6009641082. 2
6009641083. 3
6009641084. 4

Question Number : 121 Question Id : 600964271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WS & g § Il @I HEA et gl o7

1.33%
.43 %
3.53%
4.63%
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Options :
6009641081. 1
6009641082. 2
6009641083. 3
6009641084. 4

Question Number : 122 Question Id : 600964272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one is a soil-borne acute infection and highly fatal bacterial disease of animals?

1. Foot and mouth disease
2. Rinder pest
3. Martitis

4, Black quarter
Options :
6009641085. 1
6009641086. 2
6009641087. 3
6009641088. 4

Question Number : 122 Question Id : 600964272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1, GRUPT-HEUPI I

2. NS 4

3, Yfdl

4, P BIY
Options :
6009641085. 1
6009641086. 2

6009641087. 3
6009641088. 4

Question Number : 123 Question Id : 600964273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A.Pig |l Beef
8. Cattle | Il. Chevon
C. Sheep |l Pork
D.Goat | IV, Mutton

Choose the correct answer from the options given below:

1. A-l, B-ll, C-lil, DIV

2. A-lll, B-ll, C-IV, D-l

3. A-l, B-lll, C-lI, DIV

4. A-lll, B-I, C-IV, DIl
Options :

6009641089. 1
6009641090. 2
6009641091. 3
6009641092. 4

Question Number : 123 Question Id : 600964273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Gl - gl -l
A 3R . 4%
B. 1T [REGE
CUg Il, Ui
D. gl IV, §ed
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1. A-l, B-ll, C-lII, D-IV
2. A-ll, B-ll, C-IV, D-l
3. A-l, B-lIl, C-I, D-IV
4. A-ll, B, C-V, DI

Options :

6009641089. 1
6009641090. 2
6009641091. 3
6009641092. 4

Question Number : 124 Question Id : 600964274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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How long can frozen semen be stored?

1.5 years

2. 10 years

3. 20 years

4. Indefinite period

Options :

6009641093. 1
6009641094. 2
6009641095. 3
6009641096. 4

Question Number : 124 Question Id : 600964274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o §U AT &1 $4 d HUSIRG T o ebl &7

1.5 dld

2. 10§
3. 20 ¥If
4, S+-d Pld

Options :

6009641093. 1
6009641094. 2
6009641095. 3
6009641096. 4
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Question Number : 125 Question Id : 600964275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | : There is virtually no wastage in utilization of frozen semen.

Statement Il : After the collection of required quantity of semen, the bull is not required.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | is correct but Statement |l is false

4, Statement | is false but Statement Il is true
Options :
6009641097. 1
6009641098. 2
6009641099. 3
6009641100. 4

Question Number : 125 Question Id : 600964275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641097. 1
6009641098. 2
6009641099. 3
6009641100. 4

Question Number : 126 Question Id : 600964276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which among the following is not a cash crop?

1. Groundnut
2. Cotton

3. Sugarcane
4. Tobacco

~

T
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Options :
6009641101. 1
6009641102. 2
6009641103. 3
6009641104. 4

Question Number : 126 Question Id : 600964276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(p =

(0 4 4 $F-8 The] B Tol o7

W

1.4 o
2. PUR
3. 740

4. dHlld

%

Options :

6009641101. 1
6009641102. 2
6009641103. 3
6009641104. 4

Question Number : 127 Question Id : 600964277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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How many “three eye" sets are required for one hectare sugarcane planting?

1. 35,000 - 40,000

2. 25,000 - 30,000
3. 50,000 - 60,000
4.90,000 - 1,00,000

Options :

6009641105. 1
6009641106. 2
6009641107. 3
6009641108. 4

Question Number : 127 Question Id : 600964277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U e H 10V o5 o1y i it a1t T o bl Tl Bl Sl gicl 7

1. 35,000 - 40,000
2.25,000 - 30,000
3. 50,000 - 60,000
4.90,000 - 1,00,000

Options :

6009641105. 1
6009641106. 2
6009641107. 3
6009641108. 4
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Question Number : 128 Question Id : 600964278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements about soil productivity :

A.  Soil productivity is used to indicate crop yields.

B.  Soil productivity depends upon fertility and location.

C.  Soil productivity is the function of soil fertility, management and climate.
D.  Soil productivity is not the inherent property of the soil.

E. Al productive soils are not fertile.

Choose the correct answer from the options given below:

1.A,B,CandD
2ACDandE
3.B,CDandE
4 A B CandE

Options :

6009641109. 1
6009641110. 2
6009641111. 3
6009641112. 4

Question Number : 128 Question Id : 600964278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

e el Sad HUl Bl feu:
A Y SAGHd BEd 399 Sl SH1d el gl

B, &l Jaiedhdl, Jakdl Ud ®H W R #dl 2

C. W&l JGHd HeI3aRd], VarH Ud sieary &1 B ¢l
D. e SR 7 1 R 01 el |

E i SUSIS; et SR e el g

A oL fadedl o 9 w61 IR
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Options :

6009641109. 1
6009641110. 2
6009641111. 3
6009641112. 4

Question Number : 129 Question Id : 600964279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Which nutrient is required for activity of urease enzyme?

1. Zn

2. Ni

3F

4N
Options :
6009641113. 1
6009641114. 2

6009641115. 3
6009641116. 4

Question Number : 129 Question Id : 600964279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

RS T bl o foIT 191 TINap e o] 7

1, o

2.

3, HIRBRY
4, 5eIoH

Options :

6009641113. 1
6009641114. 2
6009641115.3
6009641116. 4
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Question Number : 130 Question Id : 600964280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement | : Alkaline soils content EC - > 4 ds/m; ESP = < 15; and pH = 8.5t0 10
Statement Il : Saline soils content EC = > 4 ds/m; ESP = < 15; and pH = < 8.5

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement || are false
3, Statement | is correct but Statement |l is false

4, Statement | is false but Statement Il is true

Options :

6009641117. 1
6009641118. 2
6009641119. 3
6009641120. 4

Question Number : 130 Question Id : 600964280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A 3 FoA GU 0§

B - | SR TG AR G5 = >4 dsm-T> 4 dsm%: 3. T8 B = < 15Td pH = 85 t0 10Tl &
P - I T e AW = >4 dsm-1> 4 dsm™ 3. WU, = < 15Td pH - < 85 Tl 2|
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4, B | T &, T PU NG

Options :

6009641117. 1
6009641118. 2
6009641119. 3
6009641120. 4

Question Number : 131 Question Id : 600964281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the water requirement of wheat?

1.450 - 650 mm

2. 700 - 1300 mm
3.900 - 2500 mm
4.1500 - 2500 mm

Options :

6009641121. 1
6009641122. 2
6009641123. 3
6009641124. 4

Question Number : 131 Question Id : 600964281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g & B9 & o I A b gl 7

1,450 - 650 Al

2.700 - 1300
3,900 - 2500
4. 1500 - 2500 foyedt

Options :

6009641121. 1
6009641122. 2
6009641123. 3
6009641124. 4

i
Lt

192/223

collegedunia:s

India’s largest Student Review Platform

~

T




9/18/2020

Question Number : 132 Question Id : 600964282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the statements related to the benefits of drainage :

A.  Drainage enhances aeration in the root zone.

B.  Drainage permits roots to grow deeper.

C.  Drainage increases the accumulation of salts in the root zone.
D.  Drainage facilitates easy field operation.

E.  Drainage reduces crop growth.

Choose the correct answer from the options given below:

1.A,Band C
2.8,C,Dand E
3.ABandD
4.A B CandE

Options :

6009641125. 1
6009641126. 2
6009641127. 3
6009641128. 4

Question Number : 132 Question Id : 600964282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

6009641125. 1
6009641126. 2
6009641127. 3
6009641128. 4

Question Number : 133 Question Id : 600964283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Which one is the example of Biennial weed species?

1. Setaria glauca

2. Phyllanthus fraternus
3. Cichortum intybus

4. Phalarts minor

Options :

6009641129. 1
6009641130. 2
6009641131. 3
6009641132. 4

Question Number : 133 Question Id : 600964283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

feauy TRUGaR oI &1 e HH-91 87

1. G T

2. BISCIY HevTy
3, RiIRH g9ersed
4, By HIgR

Options :

6009641129. 1
6009641130. 2
6009641131. 3
6009641132. 4
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Question Number : 134 Question Id : 600964284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
How much atrazine 50 WP is required for spraying in one hectare at the rate of 1.5 kg a.i. per
hectare?

1.1.5kg
2.30kg
3.2.5kg
4.35kg

Options :

6009641133. 1
6009641134. 2
6009641135. 3
6009641136. 4

Question Number : 134 Question Id : 600964284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1.5 farm ey uerd uia faem @l @ @ 33 F & i 0F gaem &7 # weriid 50 WP @
ol WA B ALl ghiN?

1,15 fhemm
2. 3.0 faimm
3, 2.5 [l
4,35 fbdmm

196/223

collegedunia:s

India’s largest Student Review Platform

~

T




9/18/2020
Options :
6009641133. 1
6009641134. 2
6009641135. 3
6009641136. 4

Question Number : 135 Question Id : 600964285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | : Ginning is associated with cotton crop.

Statement Il : Jute is known as king of fibre crops.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement || are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement Il is false

4, Statement | is false but Statement Il is true
Options :
6009641137. 1
6009641138 2
6009641139. 3
6009641140. 4

Question Number : 135 Question Id : 600964285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

~
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

6009641137. 1
6009641138. 2
6009641139. 3
6009641140. 4

Question Number : 136 Question Id : 600964286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the weight of 1000 grains of rice?

1.10-15¢

2.20-30g
3.15-20g
4.35-40¢

Options :

6009641141. 1
6009641142. 2
6009641143. 3
6009641144. 4

Question Number : 136 Question Id : 600964286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

4 & 1000 S BT do fohaTl Bidl €7

1.10-15 94
2. 20-30 9
3. 15-20 4
4, 35-40 9H
Options :
6009641141. 1
6009641142. 2

6009641143. 3
6009641144. 4

Question Number : 137 Question Id : 600964287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. Cotton 1 . Cob
B. Sugarcane | Il. Bolls
LC. Mustard -- lIl. Arrow
D.Maize | IV.Siliqua

Choose the correct answer from the options given below:

1. A-ll, B-lll, C-IV, D

2. A-lll, B-lI, C-I, D-IV

3. A-l, B-ll, C-lII, D-IV

4. A-ll, B, C-IV, DIl
Options :

6009641145. 1
6009641146. 2
6009641147. 3
6009641148. 4

Question Number : 137 Question Id : 600964287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-ll, B-Ill, C-IV, D
2. A-ll, B-ll, C-I, D-IV
3. A-l, B-ll, C-lII, D~V
4. A-ll, B-I, C-IV, DIl

Options :

6009641145. 1
6009641146. 2
6009641147. 3
6009641148. 4

Question Number : 138 Question Id : 600964288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List |l

listl List I
A. Pearl millet |. Pennisetum glaucum L.
B. Finger millet |l. Eleusine coracana L.
C.Little millet | IIl. Echinochloa frumentacea L.
D. Barnyard millet . Panicum sumatrense

Choose the correct answer from the options given below:

1. A-l, B-llI, C-IV, DI

2. A-l, B-Ill, C-lI, D-IV

3. A-l, B-ll, C-1V, D-Ii

4. A, B-ll, C-lll, D~V
Options :

6009641149. 1
6009641150. 2
6009641151. 3
6009641152. 4

Question Number : 138 Question Id : 600964288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-l, B-lll, C-IV, DI
2. A, B-lll, C-II, D=1V
3. A, B-lI, C-IV, Dl
4, A-l, B-II, CHII, D-IV

Options :

6009641149. 1
6009641150. 2
6009641151. 3
6009641152. 4

Question Number : 139 Question Id : 600964289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Goma Aishwarya is a variety of which crop?

1. Ber
2. Guava

3. Aonla
4. Custard Apple

Options :

6009641153. 1
6009641154. 2
6009641155. 3
6009641156. 4

Question Number : 139 Question Id : 600964289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T Oyt o o ol fobw 7

1R

2. IHEG
3, Hqd]
4, TR

Options :

6009641153. 1
6009641154. 2
6009641155. 3
6009641156. 4
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Question Number : 140 Question Id : 600964290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements :

A.  Arka Sujat and Pusa Nutan are the varieties of Ridge Gourd.

B.  Baby and Harithasree are the varieties of Round Gourd.

C.  Pusa Chandrima and Pusa Sweti are the varieties of Radish.

D.  Pusa Sandesh and Pusa Samriddhi are the varities of Bottle Gourd.
Choose the correct answer from the options given below:

1.Aand B
2.Aand C
3.Aand D
4.BandC

Options :

6009641157. 1
6009641158. 2
6009641159. 3
6009641160. 4

Question Number : 140 Question Id : 600964290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641157. 1
6009641158. 2
6009641159. 3
6009641160. 4

Question Number : 141 Question Id : 600964291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Guava |. Rutaceae
B. Bael Il. Sapindaceae

C. Cashewnut | lll. Myrtaceae

D. Litchi V. Anacardeaceae

Choose the correct answer from the options given below:

1. A-lll, B-I, C-IV, D]

2. A-ll, B~1, C-IV, D-lIl

3. A-IV, B-I, C-, D-lII

4. A-lll, B-I, C-IV, DI
Options :

6009641161. 1
6009641162. 2
6009641163. 3
6009641164. 4

Question Number : 141 Question Id : 600964291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-llI, B-1I, C-IV, D
2. A-l, B, C-IV, DIl
3. A-IV, B-Il, C-, DIl
4, A-ll, B, C-IV, Dl

Options :

6009641161. 1
6009641162. 2
6009641163. 3
6009641164. 4

Question Number : 142 Question Id : 600964292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

~

T

208/223

collegedunia:

India’s largest Student Review Platform



9/18/2020

Match List | with List I

List | List Il
A. Karonda | |. Seed
B.Mango |Il. Mound layering

C.Guava |lIl. Inarching
IV. Hardwood
D. Rose |
cutting

Choose the correct answer from the options given below:

1. A-l, B-II, C-lll, D-IV

2. A=V, B, C-lI, D-lII

3. A-l, B-IlI, C-II, D~V

4. A-IV, B, C-IlI, D-Il
Options :

6009641165. 1
6009641166. 2
6009641167. 3
6009641168. 4

Question Number : 142 Question Id : 600964292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-l, B-l, C-II, D~V
2. A-1V, B-l, C-lI, Dl
3. A-l, B-ll, C-lI, D=V
4. A-1V, B, C-lI, D-li

Options :

6009641165. 1
6009641166. 2
6009641167. 3
6009641168. 4

Question Number : 143 Question Id : 600964293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List |l

List | List ||
. South
A. Tomato Ol_J
America

B. Watermelon | Il. Afganistan

C. Brinjal |Il. Africa

......

D. Carrot V. India

Choose the correct answer from the options given below:

1. A=, B-ll, C-IV, DIl

2. A, B-lI, C-lll, D=1V

3. A-l, B-lll, C-IV, D-I

4. A-IV, B-lll, C-1, DI
Options :

6009641169. 1
6009641170. 2
6009641171. 3
6009641172. 4

Question Number : 143 Question Id : 600964293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-l, B-ll, C-Iv, D-lIi

2. A-l, B-II, C-lll, D-IV

3. A, B-llI, C-IV, Dl

4. A-IV, B-ll, C-, Dl
Options

6009641169. 1
6009641170. 2
6009641171. 3
6009641172. 4

Question Number : 144 Question Id : 600964294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which among the following is a dwarfing root stock of apple?

1.M-9
2. M-13
3. M-4

4. MM-111
Options :
6009641173. 1
6009641174. 2
6009641175. 3
6009641176. 4

Question Number : 144 Question Id : 600964294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Fpfifie A & 39 o1 4 Joad FR-a1 82

1. Q-9

2. UH-13

3. (H-4

4, TH UH-111

Options :

6009641173. 1
6009641174. 2
6009641175. 3
6009641176. 4

213/223

collegedunia:s

India’s largest Student Review Platform

~

T




9/18/2020

Question Number : 145 Question Id : 600964295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

st | Listll

A. Teak . Delontx regia

B. Gulmohar | II. Bahunia verigeta

C. Marigold | IIl. Tectoma granats

D. Kachnar | IV. Tegetus erecta

Choose the correct answer from the options given below:

1. A-l, B-ll, C-II, D-IV
2. A-ll, B~I, C-IV, D-ll
3. A-IV, B-llI, C-1, Dl
4. A-lll, B-1V, C-lI, D

Options :

6009641177. 1
6009641178. 2
6009641179. 3
6009641180. 4

Question Number : 145 Question Id : 600964295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-l, B-lll, C-I, D-IV
2. A-lll, B, C-IV, Dl
3. A-IV, B-lll, C-I, DI
4, A-ll, BV, C-lI, D

Options :

6009641177. 1
6009641178. 2
6009641179. 3
6009641180. 4

Question Number : 146 Question Id : 600964296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List I

list] | List I
A. Onion |. Lycopene
A Il. Momodocin
Gourd |
C. Radish lll. Isothiocynate
D. Tomato V. Allyl propyl disulphide

Choose the correct answer from the options given below:

1. A<, B-ll, C-lIl, D-IV

2. A-lll, B-I, C-I, D-IV

3. A-IV, B-l, C-II, D-

4. A-ll, B-IV, C-I, DIl
Options :

6009641181. 1
6009641182. 2
6009641183. 3
6009641184. 4

Question Number : 146 Question Id : 600964296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el -1 1 Gl -1l B Gferd Biforg

gl - gl I
A T |, AR
B, dedll fn.mrﬁs'rﬁ'ﬂ
.7l I, ST

D.EAIR |V, el MU SRUehRs
Ad QU U fddedl # 9 Fel TR MU

1. A-l, B-lI, C-lII, DIV

2. A-lll, B, C-II, D-IV

3. A-IV, B-Il, C-lll, D-|

4. A-ll, B-1V, C-1, DI
Options :

6009641181. 1
6009641182. 2
6009641183. 3
6009641184. 4

Question Number : 147 Question Id : 600964297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is a Rose variety?

1. Bhagwa

2. Black Magic
3. Ruby

4. Red Lady

Options :

6009641185. 1
6009641186. 2
6009641187. 3
6009641188. 4

Question Number : 147 Question Id : 600964297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 7 8 P11 o 9 few ¢

1. Hid]

2. i Hfvd

3, %4

TRELS
Options :
6009641185. 1
6009641186. 2

6009641187. 3
6009641188. 4

218/223
gcollegedunlas
India’s largest Student Review Platform

T



9/18/2020

Question Number : 148 Question Id : 600964298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Early Bedana is the variety of which fruit crop?

1. Lemon

2. Litchi

3. Karonda

4. Custara Apple

Options :

6009641189. 1
6009641190. 2
6009641191. 3
6009641192. 4

Question Number : 148 Question Id : 600964298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= [ Z
3l S o el Bl b 67

1, ol

2. (fle)

3, ]

4, Hes T (IRIE)

Options :
6009641189. 1
6009641190. 2
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6009641191. 3
6009641192. 4

Question Number : 149 Question Id : 600964299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following steps of vegetable canning :

A Grading
B. Blanching
C.  Cutting
D. Peeling
E.  Cooling

Choose the correct answer from the options given below

1.AB,CDE
2.ADCBE
3.A.CDBE
4ADBCE
Options :
6009641193. 1

6009641194. 2
6009641195. 3
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6009641196. 4

Question Number : 149 Question Id : 600964299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tooil H fSealal o fepuiafl 1 g -
A Hulic

B. Il

C. dIedl

D. &Ml

E. virdie

A1 13U 0 fadedl H 8 Wol IR -

1.A,B,C DUGE

2AD,CBUGE

3A,CD,BUGE

4.A D B CUGE
Options :
6009641193. 1
6009641194. 2
6009641195. 3

6009641196. 4
221/223
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Question Number : 150 Question Id : 600964300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il

. Crook
neck

A. Tomato

B. Cauliflower | II. Zippering

C. Beetroot | IIl. Browning

D. Cucumber | V. Forking

Choose the correct answer from the options given below:

1. A-ll, B-1V, C-llI, D

2. A-ll, B, C-IV, D-Ii

3. A-1V, B-ll, C-, DIl

4. A-ll, B-lll, C-1V, D
Options :

6009641197. 1
6009641198. 2
6009641199. 3
6009641200. 4

Question Number : 150 Question Id : 600964300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

et -1 1 Gl -1l 9 il Bl

gl - gt I
A. THIY . P Ib
TR 1, foraf
C g Il S3FT
D. Hd3| V. BIfdT
rd fgu T fadedl € gl IR AT
1. A, BV, C-lil, D-
2. A-ll, B-I, C-IV, D-Ii
3, A-IV, B-1I, C-I, D-Ii
4, A-ll, B-1Il, C-IV, D-
Options :

6009641197. 1
6009641198. 2
6009641199. 3
6009641200. 4
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